Performance Engineering Services Ltd
Off-Road Preparation, Repairs, Design & Manufacture. Specialist welding.
Tel: 01709 894192
All prices and parts are subject to change at any time without notice
Our web shop can be found at www.pesltd.uk

~ Levers, Kick, Gear Nett
40-3073 BSA A50 A65 B25 C15 B40 B44 B50 Gear Lever 57-1164 40-3073 28.00 each
PES0014 PES B50 Kickstart Knuckle PES0014 90.00 each
H70PES PES B50 Kickstart Lever and Cotter Pin H70PES replaces 57-2764 140.00 each
PES0012 PES B50 Kickstart Upper Lever PES0012 90.00 each
PES0015 PES B50 Kickstart lever Spring 1.50 each
PES0018 PES B50 Kickstart lever Shim Washer 1.00 each
PES0016 PES B50 Kickstart Lever Circlip 1.00 each
PES0017 PES B50 Kickstart Lever Ball Bearing 0.50 each
15-4179 BSA M20 M21 B31 B33 Fixed Kickstart Lever with cotter pin 15-4179 65-3381 32.00 each
57-3632 Kickstart Lever Triumph T120/T140 57-3632 25.00 each
57-1485 Triumph Kickstart Lever T90/T100 57-3797 57-1485 25.00 each
04-0434 Kickstart Lever Norton/AMC 04-0434 27.00 each
~ Clutch Parts
57-4121A PES Machined BSA C15 B40 B25 B44 B50 Spring cup 57-4121 40-3218 6.00 each
41-3215 BSA C15 B25 B40 B44 B50 Spring Nut 41-3215 57-2748 57-1146 40-3219 3.50 each
40-3220 BSA C15 C25 B25 B40 B44 B50 Surflex Plain Clutch Plate 40-3220 57-2725 8.00 each
40-3233 BSA C15 C25 B25 B40 B44 B50 Surflex Clutch friction plate 40-3233 57-2726 12.00 each
06-1339 Clutch Plate Norton Commando Surflex 06-1339 13.00 each
57-4019A BSA B50 B44 B40 B25 Uprated Clutch Alloy Pressure Plate 57-4019 PES 35.00 each
57-4189A PES Alloy Pressure Plate Grub Screw 1.00 each
57-4200 BSA B25 B40 B44 B50 Clutch Mounting Hub 57-4200 40-3201 PES 33.00 each
G2 PES Splined BSA Clutch Hub G2 60.00 each
57-2732 BSA Triumph C15 B40 B25 B44 B50 TR25W Clutch Tab Washer 40-3221 57-2732 1.25 each
41-3209 BSA C15, B25, B40, B44, B50 Clutch Spider 41-3209 57-2715 16.00 each
BSA B50 Nitrile Cush Rubber each 41-3212 2.00 each
61-3583 BSA C15 C25 B25 B40 B44 B50 Clutch Extractor 61-3583 60-0398 12.00 each
57-2733 BSA C15 B25 B40 B44 B50 Clutch pushrod 57-2733 40-3265 PES 6.00 each
40-3206 BSA Clutch roller set (25) 40-3206 57-2719 5.00 set
40-3227 BSA C15 C25 B40 B44 B25 B50 TR25W Clutch Retaining Nut 40-3227 57-2730 3.50 each
57-4198 BSA C15 C25 B25 B44 B50 Chain Wheel 57-4303 57-4198 40-3203 96.00 each
57-4303 BSA B25 B44 B50 Aluminium Clutch Basket 57-4198 57-4303 40-3203 80.00 each
57-2773 BSA A65 T140 Triplex Chain wheel 58T 57-4640 57-2773 45.00 each
57-4510 Clutch centre Outer plate (BSA 57-4510) 16.00 each
Clutch centre inner plate (BSA 57-4508) 40-3207 24.00 each
Clutch hub centre (BSA 57-4511) 57-4186 21.00 each
57-4507 BSA Clutch rivet set 57-4507 2.00 set
57-3931 BSA A50 A65 B50 Clutch Thrust Washer 57-3931 68-3278 3.50 each
40-3066 BSA C15 B40 Clutch actuator lever pivot (PES) 40-3066 5.00 each
41-3091 BSA B25 B40 B44 B50 Clutch Spring 41-3091 1.75 each
E35 BSA B50 B25 B40 B44 Heavy duty clutch spring 41-3091 E35 PES 3.50 each
57-2699 BSA Clutch release rack 57-2699 40-3282 16.00 each
57-2700 BSA B50 B44 B40 B25 C15 Triumph TR25W Clutch Operating Pinion 57-2700 40-3283 4.00 each
57-2750 BSA B50 B44 B25 Clutch Arm 57-2750 PES Stainless Steel 40.00 each
68-3287 T100/140 A7 A10 A50 A65 Clutch spring cup 68-3287 57-1931 42-3917 3.50 each
57-2159 T120 T140 BSA A65 Clutch Adjusting Screw 57-2159 68-3308 3/8" UNF 5.00 each
57-1570 Triumph 5TA, T100, T110, 6T, T120, TR6 chain wheel 57-1570 48.00 each
57-3929 T140 BSA A50 A65 Clutch centre hub 57-3929 57-1734 44.00 each
57-4438 BSA A50 A65 T120 T140 Clutch centre 57-4438 3 bolt 88.00 each
57-1549 BSA A/B Chain wheel 43T Triumph 500/650 Pre Unit 57-1549 42-3266 39.00 each
42-3107 BSA A7 A10 Clutch Centre 6 spring 42-3107 42-3220 67.00 each
06-3979 Norton Commando Hardened Clutch Centre 06-3979 32.00 each
06-0746 Norton Commando 750cc/850cc Clutch plate steel Surflex 06-0746 7.00 each
06-3741 Norton Commando 750 850cc Clutch Plate Sintered Friction Clutch Plate 06-3741 27.00 each
40-3150 BSA C15 B25 B40 B44 B50 Clutch Woodruff Key 40-3150 57-2714 4.00 each
70-8144 BSA A50 A65 Clutch Key 70-8144 2.00 each
E26 BSA B50 28T Crankshaft Engine sprocket E26 71-1634 Aluminium PES 40.00 each
41-0615 BSA B44 28T Crankshaft Engine Sprocket 41-0615A Aluminium PES 40.00 each

40-0210 BSA C15 B25 B40 23T Crankshaft Engine Sprocket 40-0210 Aluminium PES 35.00 each


http://www.pesltd.uk/

19-8683
19-8613
19-8639
110046

41-0673
70-8144

15-2419
66-3812
15-4307
15-4311
15-4261
61-1912
15-4312
26-650

25-4861
66-3813
02-0124
27-4411
25-4251
42-7504
66-3799
66-3800
02-0433
66-3813

~

CL23
CL12
CL11
CLO6
CLo7
CLO5
CLO5A
CLo1
CLo2
CLO2N6
CLo3
CLo4
CLO8A
CLO8
CLO9
CL10
CL13
CL14

~

G5
70-3821
57-2753P
CCLO109
CCLo110
CCLO049

CCLO053
CCLO052

57-2643
41-3059
40-3303
40-3303A
57-4341
57-4639

BSA B50 B44 Regina Primary Chain 72 link E46 19-8683 41-0660

BSA B25 B40 Regina Primary Chain 70 Link 19-8613 60-0951

BSA A65 Triplex Primary Chain Regina 68-0242 19-8639

Regina Spring / Connecting Link 26/126 (110046/26) 1/2" X 5/16"

BSA Generator woodruff key C15 C25 B25 B40 B44 B50 41-0673 70-8144
Generator Woodruff Key A50 A65 70-8144

BSA M20 Clutch Parts

BSA M20 Surflex Clutch Friction Plate 15-2419

BSA M20 Clutch Driving Plate 8 outer dogs

BSA M20 Clutch Driven Plate Steel 6 inner dogs 15-4307

BSA M20 Clutch Spring

BSA M20 Clutch Pushrod

BSA M20 WD Clutch Puller

BSA M20 M21 WD Models Clutch Sleeve Nut 15-4312

BSA M20 M21 Clutch Roller Set (22)

PES BSA M20 Clutch Cap Bush 25-4861

BSA M20 WD Clutch Sleeve Cork Ring 66-3813

PES BSA A7 A10 Twin M20 Bar Turned Nut 02-0124 EA60

BSA M20 Clutch Adjuster lock nut reduced hex 27-4411 1/4 x 26tpi
PES BSA M20 Clutch Adjuster Screw 25-4251

BSA M20 M21 M33 A7 A10 Primary Chaincase Felt Washer 42-7504 15-8814
BSA M20 M21 Pre 48 Clutch Hub 66-3799

BSA A7 A10 M20 M21 B31 B32 B33 B34 Clutch Spring 66-3800

BSA A7 A10 A50 A65 B31 B32 B33 B34 M20 M21 Clutch Key 02-0433
BSA M20 Clutch Sleeve Cork Ring 66-3813

PES Clutch & Parts

PES Multiplate BSA B50 B44 Clutch CL23

PES BSA Clutch Friction Plate (8 per set) CL12 each
PES BSA Clutch Steel Plate (7 per set) CL11 each
PES BSA Clutch Spring CLO6

PES BSA Clutch Spring Bolt CLO7

PES BSA Clutch Spring Cup CLO5

PES BSA Clutch Spring Cup +2 CL0O5a

PES BSA Clutch Basket CLO1

PES BSA Clutch Hub CLO2

PES BSA Clutch Hub CLO2N6 NEB 6 spline

PES BSA Clutch Pressure Plate CLO3

PES BSA Clutch Thrust Hub CLO4

PES BSA Clutch support washer CLO8+1

PES BSA Clutch support washer CLO8

PES BSA Clutch mounting bevel washer CLO9

PES BSA Clutch Push-rod with lock-nut CL10

PES BSA Clutch Circlip CL13

PES BSA 80/81 Clutch Push-rod with lock-nut CL14
Other Clutch Parts

PES BSA Outrigger plate with bearing G5 70-3789A 40-0240A
PES BSA Outrigger Plate Allen Screw 40-0246

PES BSA Sleeve gear support bush for G5 57-2753P
NEB Clutch mainshaft spacer 13 spline

NEB Clutch Pressure Plate

Clutch ctr hub NEB-13 spline

Clutch ctr hub NEB-Quaife shaft

NEB Clutch Spring Nut

NEB Clutch spacer

Steel plate for multiplate clutch NEB

Friction Plate for multiplate clutch NEB

BSA Kickstart Parts
BSA B44,B25 kickstart quadrant 57-4070 57-4592+bearing PES

BSA B25 B40 Early B44 K/S Quad 5/8 shaft cotter 41-3059 40-3267+bearing PES

BSA B40E B44 GP Splined Kickstart Quadrant 5/8 spline+bearing PES
BSA B40E B44 GP Splined 3/4 shaft K/S Quad 5/8 spline+bearing PES
Kickstart Quadrant B50 70-71 57-4341 inc. bearing (PES)

PES BSA B50 Kickstart Quadrant 73 onwards with bearing 57-4639

29.00
28.00
52.00
3.00
4.00
4.00

9.00
9.00
9.00
21.00
12.00
10.00
30.50
6.00
6.00
5.00
5.50
1.00
6.00
4.25
62.00
1.75
4.00
5.00

450.00
4.00
3.00
2.00
6.00
6.00
6.50

175.00

95.00
120.00
70.00
7.00
5.00
5.00
2.00
9.00
2.00
10.00

35.00
0.50
10.00
7.00
105.00
120.00
150.00

1.50
13.00
14.00

85.00
85.00
90.00
90.00
85.00
85.00

each
each
each
set

each
each

each
each
each
each
each
each
each
set

each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each



57-4639S
E114
E114W
57-4339
57-4336
40-3279
40-3271
57-2682
57-0731
40-3278
57-3764
57-4452
57-4338
57-2684
57-1167
57-4342
40-3276
57-4357
40-3276A
57-1962
57-2642
57-4559
E117

~

66-3058
15-4139
15-4161
66-3259
66-3081-0
66-3081
24-4258
24-4258A
24-4258B
24-4258C
24-4258D
66-3080
66-3081NOS
24-4255
24-4282

~

A40A
A40
G22
G22A
40-3007
G9
G7
G15
G13
G16
G16A
G16B
G17
G18
G46
57-2686
G20
G21
G23
G24
G30
G31
G27
G26

Kickstart Quadrant 19mm x 33 spline B50 inc. bearing PES

PES Kickstart Quadrant 20mm spline E114 inc. bearing

PES K/S Quadrant 20mm spline 4 Valve E114W 79 Works+bearing
BSA B50 Kickstart Ratchet 57-4339

BSA B50 Kickstart Pinion 57-4336

BSA C15 B40 B25 C25 B44 Kickstart Ratchet 57-2681 40-3279

BSA C15 B40 B25 C25 B44 Kickstart Pinion 40-3271 57-2683 PES
BSA Kickstart pinion bush 40-3272 57-2682 PES

Tri/BSA K/S ratchet T120,T140 twins 650/750cc, T150 triples, BSA A75 R3
BSA C25, B25, B40, B44, BSF PES High Tensile Kickstart Spring Anchor Bolt 40-3278
BSA B50 PES High Tensile Kickstart Spring Anchor Bolt 57-3764
BSA B50 Kickstart ratchet spring washer 57-4452

BSA Kickstart Return Spring 40-3275 57-2687 57-4338 PES Uprated
BSA Kickstart ratchet spring 57-2684 40-3273

Kickstart pedal spring 40-3085 57-1167

BSA B50 PES Kickstart Quadrant stop pin

BSA B25 B44 PES Kickstart Quadrant stop pin 40-3276

PES BSA High Tensile Kickstart Cotter Pin 57-4357

BSA C15 kickstart stop pin 40-3276 without circlip

Triumph T120/150 4 speed Kickstart Pinion Washer

BSA Kickstart Bush up to 73 57-2642 PES

BSA Kickstart bush 73 on model 57-4559 PES

Kickstart bush 20mm shaft E117 PES

BSA M20 Kickstart Parts

BSA M20 M21 Kickstart Spring 66-3058

BSA M20 Kickstart Spring Pawl

BSA M20 Kickstart Pawl Return Spring

BSA M20 Kickstart Return Spring Stop Rubber

PES BSA M20 M21 B33 Kickstart Ratchet Pinion Sleeve Oilite 66-3081

PES BSA M20 M21 B33 Kickstart Ratchet Pinion Sleeve PB1 66-3081

PES BSA B + M Group Kickstart Bush with o ring 24-4258 std 1.438"

PES BSA B + M Group Kickstart Bush with o ring 24-4258 +2 oversize 1.440"
PES BSA B + M Group Kickstart Bush with o ring 24-4258 +4 oversize 1.442"
PES BSA B + M Group Kickstart Bush with o ring 24-4258 +6 oversize 1.444"
PES BSA B + M Group Kickstart Bush with o ring 24-4258 +8 oversize 1.446"
BSA B31 B33 M20 M21 Kickstart Ratchet Pinion 66-3080

BSA M20 M21 B33 Kickstart Ratchet Pinion Bush NOS 66-3081

BSA M20 Kickstart Ratchet Locknut NOS 24-4255

BSA M20 Kickstart Ratchet Sleeve Nut NOS 24-4282

Gearbox Parts 3 speed

3 Speed PES gear box BSA B44 (needle bearings gears) A40A
3 Speed PES gear box BSA B50 (needle bearings gears) A40
Mainshaft 3 speed A2D1-28 G22 B50 PES

Mainshaft 3 speed B44 G22a PES

Mainshaft bush clutch pushrod 57-1391 40-3007 PES

Clamp washer G9

PES BSA Mainshaft circlip G7

Sleeve gear complete BSA 3 speed G15 PES

3 Speed Sleeve gear inner spacer A2D1-12 G13 PES

Sleeve Gear Bearing Retainer A2D1-29 G16 3 speed PES
Sleeve Gear Bearing Retainer A2D1-29 G16 PES Slim 3.78mm
Sleeve Gear Bearing Retainer A2D1-29 G16 4.3mm PES

BSA B50 B44 3 Speed 18T Slider Gear (mainshaft) G17 A2D1-27 PES

BSA B50 B44 16T spinner gear (mainshaft) G18 A2D1-03 (runs with 19t G26) PES Old 3 Speed
BSA B50 B44 3 Speed 16T Spinner Gear PES (main) G46 (runs with G47) + needle bearing PES

Mainshaft half nut 76-0271 57-2686 PES

BSA Mainshaft spacer washer A2D1-10 G20 PES

BSA B50 B44 3 Speed Selector Fork Mainshaft A2D1-17 G21 PES

BSA B50 B44 3 Speed Selector Fork Layshaft A2D1-16 G23 PES

BSA B50 B44 Layshaft 3 speed G24 A2D1-06 PES

PES Layshaft circlip G30

BSA B50 B44 3 Speed 14T Fixed Gear Layshaft A2D1-09 G31 PES

BSA B50 B44 16T spinner gear layshaft G27 A2D1-08 inc needle roller bearing PES

BSA B50 B44 19T slider gear (layshaft) G26 A2D1-07 (runs with 16t G18) PES Old 3 Speed

90.00
120.00
125.00

20.00

32.00

15.00

32.00

11.00

13.00

10.00

10.00

1.50
5.00
2.00
1.00
10.00
10.00
7.50
1.00
0.50
6.00
6.00
6.00

12.50
4.50
4.50
4.00

11.50
7.50

15.00

15.00

15.00

15.00

15.00

48.00

16.00
5.75
6.50

800.00
800.00
150.00
150.00
3.00
15.00
2.00
155.00
3.00
6.00
6.00
6.00
115.00
55.00
60.00
1.50
5.50
81.00
81.00
55.00
2.00
48.00
70.00
117.00

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



G47

G25

G32
G32A
G32C
G14
CGB0025
CGB0021
G18N

~

TG4
G101
G102
Gl6
G117
G117A
G105
G108
G115
G116
G118
G106
G111
G32B
G114
G113
G110
A100
A100A

~

G1A

G4
57-3872
G11
41-3045
41-3078
41-3073
PES0001
40-3262
57-2668
57-3877
57-2667
G3
41-3089
41-3065
PES0002
57-4665
41-3063
57-3876
PESO003
40-3032
57-3850
40-3291
60-2724
57-0373
68-0101
40-3042
40-3043
40-3045
57-1896
57-2692R
40-3055R
E165R
68-3294R

BSA B50 B44 3 speed 18T slider gear PES(layshaft) G47 PES (runs with G46) 117.00
BSA B50 B44 3 Speed Layshaft Large Thrust Washer A2D1-14 G25 PES 7.50
BSA B50 B44 3 Speed Thrust Washer, Layshaft Driving Side A2D1-19 G32 PES std 3.00
BSA B50 B44 3 Speed Thrust Washer, Layshaft Driving Side A2D1-19 G32 PES 1mm thick 3.00
BSA B50 B44 3 Speed Thrust Washer, Layshaft Driving Side A2D1-19 G32 PES 2.5mm thick 3.00
BSA B50 B44 3 speed Camplate A2D1-18 G14 PES 50.00
Cam plate BSA 3 speed NEB 50.00
Layshaft small spacer washer NEB 2.50
16T spinner gear (mainshaft) NEB 85.00
PES BSA 4 Speed Race Gearbox

PES 4 Speed Race Gearbox selector fork TG4 81.00
PES 4 Speed Race Sleeve Gear G101 160.00
PES 4 Speed Race Sleeve Gear Bearing Spacer G102 3.00
Sleeve Gear Bearing Retainer G16 PES (see 3 speed) 6.00
PES 4 Speed Race Mainshaft G117 B50 150.00
PES 4 Speed Race Mainshaft G117A (B25,B44) 150.00
PES 4 Speed Race Mainshaft Sliding Gear G105 115.00
PES 4 Speed Race Mainshaft Fixed Gear G108 70.00
PES 4 Speed Race Spinning Gear Mainshaft G115 105.00
PES 4 Speed Race Layshaft Fixed Gear G116 70.00
PES 4 Speed Race Layshaft G118 65.00
PES 4 Speed Race Spinning Layshaft 3rd Gear G106 105.00
PES 4 Speed Race Spinning Layshaft 1st Gear G111 80.00
BSA B50 B44 PES 4 speed Race Thrust Washer, Layshaft Driving Side PES 1.5mm thick 3.00
PES 4 Speed Race Gearbox Slider Gear G114 115.00
PES 4 Speed Race Gearbox selector fork G113 90.00
PES 4 Speed Race Gearbox Camplate G110 70.00
PES 4 Speed Race Gearbox BSA B50 needle bearing gears A100 1,400.00
PES BSA B44 B25 4 Speed Race Gearbox Needle Bearing Gears A100A 1,400.00
BSA Gearbox 4 speed

PES BSA B50 B44 Splined Mainshaft 4 speed G1A 150.00
BSA sleeve gear G4 21T (runs with G3) PES 140.00
BSA Sleeve Gear Kit G4A replaces 57-3872 22T (needle roller) PES 160.00
BSA 4 Speed Sleeve gear inner spacer G11 PES 3.00
BSA Sleeve Gear Bush 41-3045 57-2753 PES 9.00
BSA B25 C25 B44 B50 Triumph Layshaft Circlip 41-3078 57-2669 1.00
BSA Unit single 1st gear layshaft 25T 41-3073 MX PES 45.00
BSA Layshaft 1st 29T PES0001 (to go with PES0002) 45.00
BSA B50 B44 Layshaft 1st gear bush 40-3262 57-2752 PES 3.00
Layshaft 2nd gear 22T B25-B50 41-3070 57-2668 PES 40.00
BSA Unit Single Layshaft Third Sliding Gear 19t 57-3877 41-3069 PES 65.00
BSA B25 B44 B50 Triumph TR25W Layshaft 41-3068 57-2667 14T PES 65.00
Layshaft BSA G3 13T (runs with G4) PES 60.00
BSA B25 B44 B50 Triumph TR25 Mainshaft 1st gear 16T 41-3089 57-2663 PES 45.00
BSA Mainshaft 1st gear 18T 41-3065 MX PES 45.00
BSA Mainshaft 1st Gear 14T PES0002 (to go with PES0001) 40.00
BSA Unit single 3rd gear 24T Mainshaft 57-4665 large bore PES 60.00
BSA Unit single 3rd gear 24T Mainshaft 41-3063 small bore PES 60.00
BSA Unit single Sliding gear 21t 57-3876 41-3064 Mainshaft PES 65.00
BSA Sliding Gear Wide Ratio Conversion PESO003 19T 50.00
BSA Gear selector shaft 57-2688 40-3032 PES 14.00
PES BSA B25 B44 B50 C15 C25 4 Speed Camplate 57-3850 40-3294 57-2690 T2690 55.00
BSA Camplate spindle 57-4048 40-3291 5.00
Camplate Spindle Split Pin 60-2724 1.00
Camplate Plunger Spring 57-0373 2.50
Camplate Plunger Spring A65 2.50
BSA Camplate Locating Spring 40-3042 57-2691 7.00
BSA/Triumph Camplate Spring Backing Plate 40-3043 57-1249 5.00
BSA Camplate Spring Lock Washer 40-3045 57-1180 2.00
Triumph T100 Gearchange Shaft Spindle 57-1896 5.00
BSA B50 B44 B25 Gear change repair shaft 57-2692R PES 18.00
BSA C15 Tiger Cub Gear change repair shaft 40-3055R PES 16.00
80-81 Gear change repair shaft E165R PES 22.00

BSA A50 A65 Gearchange Repair Shaft PES 15.00

each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



40-3193
57-1109
40-3155
71-1271
All
40-3126
40-3127
40-3019
40-3020
40-3119
40-3120
41-3072
41-3074
76-0528
57-0280
57-2670
40-3051
57-2702
57-4454A
57-4454
57-2689
57-4603

~

24-4263
24-4225
24-4235
24-4236
66-3090
15-4242
15-4141
15-4142
24-4226
68-3194
42-4075
65-2521
65-2521S
24-4278
66-3283
24-4394
15-4165
66-3212
24-4231
24-4393
24-4221
66-3215
66-3209
15-4206
66-3155
24-4236
15-4229
66-3083
66-3248
66-3258
66-3071
15-4226
24-4241
24-4223

G37
G36
G39
G41
G42
G44

Gear Selector Plunger BSA B25 B44 B50 (pair) 57-2105 40-3193

BSA B50 B44 B40 B25 C15 TR25 Gearchange return spring 57-1109 40-3061
BSA C15 B25 B40 B44 B50 Triumph Gearchange Plunger Spring 40-3155 57-2106
B50 Gearbox bearing shield 71-1271

BSA C15 B25 B40 B44 B50 Tab Washer Set Engine/Gearbox

PES BSA Mainshaft Thrust Washer 0.098-0.099 40-3126 57-2679

PES BSA Mainshaft Thrust Washer 0.103-0.104 40-3127 57-2680

PES BSA Mainshaft Thrust Washer 0.075-0.076 40-3019

PES BSA Mainshaft Thrust washer 0.093-0.094 40-3020 57-2678

PES BSA Mainshaft Thrust washer 0.070-0.071 40-3119

PES BSA Mainshaft Thrust washer 0.080-0.081 40-3120

PES BSA Layshaft Thrust washer 0.078-0.080 41-3072 57-2672

PES BSA Layshaft Thrust washer 57-2671 41-3074 0.083-0.085

BSA Gearbox Mainshaft bearing circlip 76-0528 70-8152

BSA/Triumph Gearbox+ hub circlip 57-0280 42-5821

BSA Shim layshaft 1st gear 40-3258 57-2670

PES BSA C15 B25 B44 B50 A65 A7 Gearbox Sprocket Nut 57-1434 40-3051
BSA Unit Single Drive sprocket lock washer 57-2702 40-3121

BSA B50 Return Spring Anchor Bolt 57-4454 Alloy PES

BSA B50 Return Spring Anchor Bolt 57-4454 Steel PES

BSA Selector fork Layshaft 40-3033 57-2689

BSA Selector fork Mainshaft 57-3854 57-4603

BSA M20 Gearbox Parts

BSA A7 A10 B31 B32 B33 B34 M20 M21 M33 Gearbox Sprocket Lock Washer 24-4263
BSA M20 Gearbox Oil Retaining Washer 24-4225

BSA M20 Oil Flinger Washer 24-4235 PES

BSA M20 Oil Retaining Washer 24-4236 PES

BSA M20 Gearbox and Chaincase Washer Cork

BSA B31 B32 M20 M21 Pawl Carrier Arm Assembly (top)

BSA B31 B32 M20 M21 Pawl (top)

BSA B31 B32 M20 M21 Pawl (bottom)

BSA B31 B33 M20 M21 Gearbox Sprocket Lock Nut 24-4226 PES

BSA A50 A65 B31 B32 M20 M21 Gearbox Front Sprocket Felt Washer 24-4232
BSA A B M Gearbox Adjuster Locking Washer 42-4075

BSA C10, C11, B31, B32, B33, B34, M20 & M21 Cush Drive Bearing Nut Lockwasher
BSA B31 B33 B34 M20 M21 Engine/Gearbox Tab Washer Set (set of 3) 65-2521 24-4263
BSA B31 B33 B34 M20 M21 Kickstart Ratchet Lock Washer 24-4278

BSA B31 B32 M20 M21 Gearbox Mainshaft Rigid Plunger NOS

BSA M20 Gearbox Layshaft NOS

BSA M20 Sleeve Gear with Bush NOS

BSA M20 Mainshaft 3rd Gear 25T NOS

BSA M20 Mainshaft 2nd Gear 20T x 16T NOS

BSA M20 Dog Clutch NOS

BSA M20 Layshaft Gear 17T x 20T NOS

BSA M20 Layshaft 2nd Gear 25T NOS

BSA M20 Layshaft 1st Gear 29T NOS

BSA M20 M21 Gearchange Ratchet Lever with Sleeve NOS

BSA M20 Layshaft Bush 66-3155

BSA M20 Oil Retaining Washer NOS 24-4236

BSA M20 Footchange Shaft NOS 15-4229

BSA M20 Gear Control Shaft NOS 66-3083

BSA M20 Gear Control Fork NOS 66-3248

BSA M20 Gear Control Peg NOS 66-3258

BSA M20 Mainshaft Packing Shim NOS 66-3071

PES BSA B31 B32 M20 M21 Inner Cover Pedal Shaft Bush 15-4226

PES BSA M20 M21 Layshaft Bush Long

PES BSA M20 M21 Layshaft Bush Short

PES 80-81Gearbox

80-81 16T Lay/Mainshaft spinner gear A4D104 PES
80-81 18T Lay/Mainshaft sliding gear A4D103 PES
80-81 Selector Fork A4D110 G39 PES

80-81 Selector Fork A4D111 G41 PES

80-81 20T Layshaft spinner gear A4D107 G42 PES
80-81 Layshaft 4 speed A4D208 G44 PES

11.00
5.00
1.50
2.50
8.00
7.00
7.00
7.00
7.00
7.00
7.00
7.00
7.00
3.00
3.00
1.00
6.00
1.50

12.00

12.00

75.00

75.00

2.00
1.25
3.00
3.00
1.00
35.50
19.50
19.50
13.00
1.50
10.50
1.50
8.00
2.00
112.00
56.00
64.00
45.00
48.00
32.00
48.00
45.00
45.00
42.00
8.00
4.00
48.00
48.00
40.00
4.00
2.00
15.00
24.00
30.00

65.00
100.00
150.00
150.00

65.00

80.00

pair
each
each
each
set

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each



G45
G38
G34
G40
G33
G35

JHOO1

JHO1
JHO2
JHO3
JHO4
JHOS
JHO6
JHO7
JHO8
JHO9
JH10
JH11
JH13
JH14
JH15
JH16
JH17
JH18
JH19
JH20
JH22
JH23
G51

JH29
JH30

~

70-9915
70-3706
70-3710
70-3720
70-3740

66-0492
66-0491
E150
E206
71-2586
40-0572pP
70-7850
71-1199
41-0183
PES3
PES4
A22
E58A
E58
41-0586A
PES0026
65-0486A
66-0483A
PES0027
PES0021
PES6

80-81 14T Layshaft fixed pinion gear 4 speed A4D106 G45 PES
80-81 14T Mainshaft fixed pinion gear 4 speed A4D105 PES
80-81 20T Sleeve gear 4 speed A4D102 PES

80-81 Camplate (see TG10) PES

80-81 Mainshaft A4D109 PES

80-81 wide case Gearbox PES

PES A65 5 Speed Race Gearbox

BSA A65 5S Race Gearbox Full Roller bearing/undercut dogs. (PES)
PES Mainshaft assembly

PES Layshaft assembly

PES A65 5 speed Mainshaft

PES A65 5 speed Fixed Gear Mainshaft 13T JHO2V2

PES A65 5 speed Mainshaft 4th Spinning Gear 19T JHO3 Complete
PES A65 5 speed Mainshaft 2nd 3rd Sliding Gear 16T 18T JH04
PES A65 5 speed Sleeve Gear Complete JHO5

PES A65 5 speed Layshaft JHO6

PES A65 5 speed Fixed Gear Layshaft 18T JHO7V2

PES A65 5 speed Layshaft 2nd Sliding/Spinning Gear JHO8 V2 complete
PES A65 5 Speed Spinning Gear Layshaft 21T JHO9V2

PES A65 5 Speed Sliding Gear Layshaft 4th 19T JH10V3

PES A65 5 Speed Spinning Gear Layshaft 26T JH11V3

PES A65 Mainshaft Spacer Washer JH13

PES A65 5 speed Camplate JH14

PES A65 Sleeve Gear bronze Thrust Washer JH15

PES A65 Layshaft Bronze Thrust Washer JH16

PES A65 Selector Fork into JHO4 JH17

PES A65 Selector Fork into JHO8 JH18

PES A65 Selector Fork into JH10 JH19

PES A65 Sleeve Gear Bearing Spacer JH20

PES A65 Layshaft circlip

PES A65 Layshaft 2nd .08 wire bearing retainer JH23

PES A65 Clutch Hub Conversion G51

9/16" Half Nut PES A65 JH29

PES A65 Mainshaft pushrod bush

PES A65 Selector Shaft

Crank Parts

Triumph T100/BSA B25 (1971-) conrod 70-9915 70-4001 R&R Billet
Shells 3TA 5TA B25 std (pair)

Shells 3TA 5TA B25 010 (pair)

Shells 3TA 5TA B25 020 (pair)

Shells 3TA 5TA B25 040 (pair)

R&R B25 Conrod washer

R&R B25 Conrod bolt

BSA B50 B44 B40 B33 B32 B31 A50 A65 Small End Bush

PES BSA M20 M21 Small end Bush (1939-58) 66-0491

PES 4V Small End Bush

PES BSA B44 Big end kit with steel cage silver plated E206 (41-0586)
PES BSA B50 Big end kit with steel cage silver plated 71-2586

PES B44 Big end steel cage bearing silver plated 40-0572P

PES B50 Big end steel cage bearing silverplated 70-7850 38x46x20
BSA B50 Big end liner 71-1199 PES

BSA B44 Big end liner 41-0183 PES

BSA C15 Big End Liner

PES Ariel big end liner

PES BSA B50 6" Connecting Rod & Big End Assembly

PES 35mm B50 big end pin 71-1616A with nuts

B50 Big End Pin (PES) 71-1616 (38mm) with nuts

PES BSA B44 Big End Pin (PES) 41-0586 (38mm) with nuts

BSA M20 M21 B31 B33 Big End Pin Nut (PES pin only)

BSA M20 M21 B31 B33 Big End Pin (PES) 65-0486A (38mm) with nuts

BSA M20 M21 B31 B33 Big End Kit PES 65-0486A 38mm silvercage bearing

BSA M20 M21 B31 B33 Big End Liner (PES)
PES BSA M20 Crank Spacer Washer PES0021
PES Norton 35mm Big End Kit

60.00
60.00
140.00
45.00
170.00
1,100.00

2,000.00

200.00
100.00
110.00
180.00
220.00
110.00
100.00
180.00
110.00
105.00
110.00
5.00
120.00
6.00
6.00
120.00
120.00
120.00
6.00
2.00
2.00
95.00
3.00
5.00

208.00
26.00
26.00
26.00
26.00

3.00
13.00
11.00
12.00
11.00

205.00

199.00
50.00
35.00
50.00
50.00
45.00
45.00

400.00

100.00

100.00

100.00

5.00

100.00

160.00
45.00

3.00

150.00

each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
pair

pair

pair

pair

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



PES5
PES7
41-0588
31-0300 31-300
68-0657
E158
E158A
71-1731R
37-1798
29-2053
N7
29-2023
71-1629

71-1678
H304D
71-2650
71-1631
70-9975
66-0660
65-2240
66-0640
66-0644
27-1239
24-2113
EA62
71-2649
14-6502
Carr

~

A21
A21B
A21C
A21D
E59
ES59A
PESO0007
66-0492PES
71-1677A
71-1676A
71-16778B
71-1676B
71-1677C
71-1676C
E203
E203
CCR0020
PES0008

71-1632
71-1632A
E11
71-1681
PES0006
PES0013

21-2034
21-2033
21-2033SS
21-2033PES
41-0540A
41-0540PES
40-0019

PES Norton Big End Liner

PES Norton Crankpin Nut

Crankpin Nut (small hex)(7/8" 20tpi) 41-0588

BSA B31 B33 M20 M21 Crank Pin Locking Washer 31-0300

PES BSA A50 A65 Crankshaft Bush 68-0657 68-0647 68-0648 68-0015
Top Hat Bush Steel for crankcase engine mount front + rear 10mm hole
Top Hat Bush Steel for crankcase engine mount bottom 11.6mm hole
Crank Disc Spring Washer 71-1731R E26W

BSA B44 B25 Timing Side Crank Nut 20TPI 37-1798 42-5864 PES

PES BSA Rotor Spigot Nut 20TPI 29-2053 70-8146

Rotor Nut UNF N7 21-2039 21-2066 29-2023

BSA A50 A65 B44 B50 Plain Alternator Nut 29-2023

Primary Drive sprocket shim set 71-1629 71-1630

PES BSA Crank Plug 71-1678P Hex

PES BSA C15 B40 B44 B50 Crank Plug 71-1678

Crank Shim Set B25 etc.

BSA B50 LH Main Bearing Distance Piece 71-2650

BSA B50 LH Main Bearing Distance Piece Inner Races 71-1631
Distance Piece - oil pump drive 41-0565 70-9975

BSA M20 M21 B33 L/H Crankshaft Bearing Spacer 66-0660 hardened and ground

BSA B31 B33 M20 M21 Main Bearing Circlip Drive Side 65-2240
BSA M20 M21 Mainshaft Timing Side 66-0640

BSA M20 Drive Side Engine Shaft NOS 66-644

BSA M20 Drive Side Engine Rivet

BSA M20 M21 B31 B32 B33 B34 Drive Side Oil Flinger 24-2113
BSA M20 Crankpin Locking Washer Screw EA62

BSA B50 HD Bearing retaining plate replaces 71-2649 PES

HD Bearing retaining plate countersunk screw 14-6502

Carrillo 6" Con-rod bare 3/4" S.E. (requires big end kit E58)
PES Crank & Parts

B50-B44 PES Crankshaft press fit pin (Balanced)( 90mm stroke)
B50-B44 PES Crankshaft press fit pin (Balanced)(82mm stroke)
B50-B44 PES Crankshaft press fit pin (Balanced)(100mm stroke)
B40-C15 PES Crankshaft press fit pin (Balanced)(70mm stroke)
BSA PES 6" Con-rod British made 3/4" S.E. (suits 35.0mm pin)
BSA PES 6" Con-rod British made 13/16" S.E. (suits 35.0mm pin)
PES 5.563" Con-rod British made 3/4" S.E. (35.0mm pin) C15, B40, PES350T
PES Conrod Small End Bush

RH 90mm stroke flywheel

LH 90mm stroke flywheel

RH 82mm stroke flywheel

LH 82mm stroke flywheel

RH 100mm stroke flywheel

LH 100mm stroke flywheel

Big end pin (PES BSA) crank 35mm

Big end pin (PES BSA) crank 35.1mm

Big end pin NEB crank BSA

35mm OD silver plated big end bearing 35x42x20

35mm OD silver plated big end bearing (size grades) 35x42x20
PES BSA B50 B44 Drive side shaft (L/H) for BSA crank

Drive side shaft for crank(PES)

Drive side shaft for crank(short)

Timing Side Shaft for PES BSA crank 71-1681A

Small End Bush PES Conrod E59 22.25mm 0.D. 19.00 |.D. PES0006
Small End Bush PES Conrod E59 22.25mm 0.D. 13/16".00 I.D. PES0013

Studs & Bolt Sets

PES Cylinder barrel stud 5/16 UNC/UNF 21-2034 BSA B50

PES Cylinder head and barrel fixing stud B50 7/16"

PES Cylinder head and barrel fixing stud BSA short stroke 7/16
Cylinder head and barrel fixing stud PES B50 Special 7/16

Cylinder head and barrel fixing stud PES B44 Special 41-0540A 7/16
Cylinder head and barrel fixing stud PES B44 Special 100mm crank 7/16
PES Crankcase top Stud C15 40-0019 5/16"

45.00
5.00
8.00
6.00

70.00
3.00
3.00
2.00
6.00
6.00
5.00
4.50
3.00
7.50
5.00
7.00
3.00
8.00
3.00

10.00
2.00

80.00

80.00
2.00

15.00
2.25

20.00
1.00

250.00

900.00
900.00
900.00
900.00
240.00
240.00
240.00
7.00
225.00
225.00
225.00
225.00
225.00
225.00
75.00
75.00
45.00
35.00
35.00
80.00
80.00
80.00
80.00
11.00
11.00

5.00
15.00
20.00
20.00
20.00
20.00

5.00

each
each
each
each
each
each
each
each
each
each
each
each
set

each
each
set

each
each
each

each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each



21-2042
21-1890
PES0004
15-0152
21-0597
14-1606
37-1246
14-6610
70-8169
89211
B4

B6

SS2

E61

B22
14-0207
B13
B25
B5A

BS

B5B
JBR6
JBR7
41-0034
14-6219
89202
89201
02-0923
02-0049
02-0130
41-0639
76-0012
02-0861
66-9036
27-4258
15-0476
66-4168
68-0079
21-1894
21-1895
66-7520
66-7523
40-0309
68-0337
24-0381
24-40612
24-40616

~

E67
E67M
08-504

E67P

E67D

70-9979
83-4783
70-1670
67-0642
65-2589
67-1390

41-0567
71-2123
41-0603

PES BSA B50 Crankcase Top Stud 21-2042 5/16" Waisted 6.00
PES BSA Crankcase rear stud 21-1890 5/16" 5.00
Head/Barrel Stud UNF/UNC crankcase top BSA B44 PES0004 5/16 5.00
BSA B44 M20 M21 Cylinder Base Nut 15-0152 7/16 x 20TP!I 3.50
PES B50 B44 B25 Oil Pump Fixing Stud 1/4 UNF/UNC 21-0597 41-0802 5.00
PES B25 B50 Oil Pump Fixing Stud 1/4 UNF/UNC 14-1606 4.00
BSA Rear Brake Anchor Plate Nut 37-1246 42-5842 2.50
BSA B50 Clutch Cover Bolt Set 14-6610 21-2153 7.00
PES R/H cover Bolt set 70-8169 14-6612 14-6614 14-6610 14-6606 UNC 8.00
Engine case bolt set B50 15.00
PES Front Engine Mounting Bolt and Nut 14-0239 3.00
PES Rear Engine Bolt and Nut 3.00
BSA B44 Countersunk Rocker Box Screw Set BSF 9.00
BSA B50 Countersunk Socket headed rocker box bolt set UNC 9.00
PES Rear Sprocket Bolt Set 5.00
BSA B50 Rear Sprocket Socket Head Bolt Set 14-0207 14-1301 5.00
Screw, Adjuster Plate Swing Arm PES 1.00
PES Footpeg Bolt Set 6.00
PES 73 lower engine mounting bolt 7/16" 10.00
PES up to 75080 lower engine mounting bolt 3/8" 10.00
PES 75 on from frame 75080 Lower mounting stud 7/16" 10.00
JBR Lower Engine Mount Bolt PES 10.00
JBR Rear Engine Mount Bolt PES 10.00
BSA C15, B25, B40, B44 Crankcase bolt set pre '70 6.00
BSA B25 B44 B50 Crankcase bolt set '70 on UNC 6.00
BSA C15 C25 B25 B40 B44 BSF Thread Engine Case Screw Set Stainless Steel 15.00
Engine Case Bolt Set B25 B44 UNC thread 15.00
BSA Heavy Duty 5/16 I/D Flat Washer 02-0923 70-8088 0.50
5/16 x 26tpi half nut 70-8133 02-0049 70-8087 24-6040 42-0101 1.00
PES BSA B25 C25 B40 Heavy Duty Head Washer 02-0130 3.00
BSA Thick Head bolt Washer B44 B50 41-0639 PES 3.00
BSA Washer Cylinder Barrel stud 5/16 B50 B44 B25 76-0012 PES 3.00
PES BSA M20 M21 Tough Head Bolt Washer 02-0861 3.00
BSA M20 Cylinder Base Nut Spanner NOS 66-9036 6.50
BSA M20 Gearbox Inspection Cover Bolt 3.75
BSA M20 Front Gearbox Bolt 15-476 15-0476 NOS 11.25
BSA M20 Rear Gearbox Bolt 66-4168 NOS 13.00
BSA A65 Cylinder Head Stud 68-0079 71-1468 2.00
BSA B50 B44 B25 Alternator Stud 21-1894 6.00
Stud Alternator 21-1895 5.00
BSA A7 A10 B31 B33 Gearbox Sliding Plate 66-7520 15.00
BSA A7 A10 B31 B33 M20 M21 C10 C11 C12 Sliding Plate Bolt Short 66-7523 5.25
Rocker Breather Inspection Cover Screw 2BAx 1 1/2" 1.00
BSA A65 Head Bolt Set (9 piece) 68-0337 67-0283 18.00
BSA G13 G14 Head Bolts (8) with washers PES 48.00
Button Head Allen bolt 10-pack M6x1x12 10mm 4.00
Button Head Allen bolt 10-pack M6x1x16 10mm 4.00
Oil System

BSA B50 Steel Sump Plate 67-1286 E67 11.00
PES B50 B44 B40 B25 Sump Plate with Magnet Kit (finned) 50.00
PES Magnetic Sump Plate drain plug 8mm x 1.25mm 9.00
PES Sump Plate magnet 4mmdiameter x 3mm 0.25
PES BSA B50 B44 B40 B25 A7 A10 A50 A65 Alloy Sump Plate (shallow) 67-1286 20.00
BSA B50 Sump Plate Deep - finned 50.00
BSA B50 B44 B25 Triumph TR25 Sump Gauze 70-9979 71-2933 10.00
Triumph T140 Sump Gauze (without hole) 83-4783 19.50
BSA Triumph Pressure Release Valve Copper Washer 70-9737 70-1670 1.00
A7/A10 Crankshaft worm drive 67-0642 32.50
Hepolite Oil Pump BSA Pre Unit B31 B32 B33 B34 M20 M21 C10L C11G C12 65-2589 65-2619 190.00
Oil Pump Cover Plate 67-1390 70-8099 3.00
oil pump cover plate bolt 41-0609 0.50
BSA Qil pump drive (crank) 70-8041 41-0567 30.00
BSA B50 Oil pump driving spindle 71-2123 30.00
BSA B25 B40 B44 B50 Driving Gear Oil Pump 41-0603 70-8094 54.00

each
each
each
each
each
each
each
set
set
set
each
each
set
set
set
set
each
set
each
each
each
each
each
set
set
set
set
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
set
set
set
set

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



71-2230
70-6038
70-6455
65-2622
71-2122
71-2124
71-2771
71-2771A
40-0385
60-2364A
40-0387
65-0317
E21
65-2611
71-1126
41-0706
71-2229
65-2602
65-2252
66-8332

~

E1A

E5
71-1735
71-1736
68-0661
68-0662
68-0665
68-0663
41-0024
41-0023
PES0019
PES0020
41-0788
41-0789
PES0009
PES0010
70-4012
70-4013
66-0236
66-0235
65-1239
65-1240
40-0165
40-0337
40-0166
67-0394
67-0395
67-0323
67-0324
67-1551
65-0647
65-2512
70-6854
V241
E202
71-1627
71-1627-0-S
71-1626
71-1626-0-S
41-0633
41-0633-0-S
41-0632
41-0632-0-S

BSA B25 Triumph T25 Oil Pump Gear 71-2230

BSA Oil Pump Driven Gear 3 cylinder 70-6038

BSA Rocket 3 Oil Pump Drive Feed Gear 3 cylinder 70-6455

PES BSA B C M Group Oil Pump Circlip 65-2622

BSA B25 B50 Triumph T25 Scavenge Oil Pump Driving Gear 71-2122

BSA B25 B50 Triumph T25 Scavenge Oil Pump Driven Gear 71-2124

PES BSA B25 B50 B44 TRIUMPH Scavenge valve 71-2771 41-0624 (may require trimming)
PES Scavenge valve long 71-2771+20

PES BSA Oil non return valve spring 70-8124 40-0385

PES BSA Oil non return valve spring & ball 40-0385 60-2364 70-8124

BSA B25 B44 Oil Pressure Release Valve Spring 40-0387

Rocker Spindle oil feed bolt BSA A+B Group 65-0317

PES Front Oil Return Adaptor

BSA B&M group Billet Sump Plate with magnetic drain plug - finned

BSA A7 A10 A65 A50 Sump Filter Gauze 71-1126

PES B50 B44 Oil pump locating dowel 41-0706 70-8022

BSA B25 C25 Triumph T25 Oil Pump Driving Spindle 40-1015 71-2229 71-1142

BSA C10 C10L C11 C11G C12 Oil Pump Driving Spindle 65-2602

BSA A7 A10 B31 B33 C10 C11 C15 M20 M21 M33 Crankcase to Oil Pipe Adaptor 65-2252
BSA B31 M20 M21 Oil Pipe Nut 66-8332

Head Components

PES B50 Inlet Valve 47mm Ela

PES B50 Exhaust Valve 40mm E5

B50 inlet valve 71-1735

B50 exhaust valve 71-1736

BSA B25 A50 inlet valve 68-0661

BSA B25 A50 exhaust valve 68-0662

A65 Inlet Valve

A65 Exhaust Valve

T100 B40 B44 Round head Inlet valve 70-6853 41-0024

B40 B44 Round head Exhaust Valve 41-0023

PES BSA B44 Round Barrel Race Inlet Valve 44mm

PES BSA B44 Round Barrel Race Exhaust Valve 38.6mm

BSA B44 Inlet Valve 41-0788 Square Head

BSA B44 Exhaust Valve 41-0789 Square Head

PES BSA B44 Big Inlet Valve Long 44.5mm PES0009 Square Head
PES BSA B44 Big Exhaust Valve Long 39mm PES0010 Square Head
T100 inlet valve 70-4012

T100 exhaust valve 70-4013

BSA M20 M21 EXHAUST valve 66-0236

BSA M20 M21 Inlet valve 66-0235

BSA B33 B34 M33 Inlet Valve

BSA B33 B34 M33 Exhaust Valve

BSA C15 Inlet Valve 40-0165

BSA C15 SS80 Inlet Valve 40-0337

BSA C15 Exhaust valve 40-0166

BSA A7 A7SS Inlet Valve

BSA A7 1951-62 Exhaust Valve

BSA A10 Inlet valve

BSA A10 Exhaust Valve, 1956-62

BSA A10 Super Rocket Inlet valve

Gold star inlet valve 65-0647 (47mm head)

Gold star exhaust valve

T100 exhaust valve 70-6854

BSA Beagle Inlet Valve V241

PES BSA 5/16" ID valve lash cap

PES BSA B50 Standard Exhaust valve guide 71-1627(colisbro)

PES BSA B50 Oversize Exhaust valve guide 71-1627 O-S (colisbro)
PES BSA B50 Standard Inlet Valve guide 71-1626(colisbro) stem seal required
PES BSA B50 Oversize Inlet Valve guide 71-1626 (colisbro) stem seal required
PES BSA B44/B25 Standard Exhaust Valve guide colisbro 41-0633
PES BSA B44/B25 Oversize Exhaust Valve guide colisbro 41-0633
PES BSA B44/B25 Standard Inlet Valve guide colisbro (stem seal required) 41-0632
PES BSA B44/B25 Oversize Inlet Valve guide colisbro (stem seal required) 41-0632

8.00
8.00
4.00
2.00
8.00
15.00
10.00
10.00
3.00
3.25
2.00
2.50
20.00
36.00
7.00
2.00
30.00
42.00
7.50
1.50

29.00
29.00
14.00
16.00
12.00
16.00
12.00
16.00
14.00
16.00
29.00
29.00
18.00
18.00
25.00
25.00
14.00
16.00
30.00
30.00
16.00
16.00
21.00
11.00
16.00
15.00
15.00
12.00
12.00
14.00
19.00
16.00
12.00
16.00

5.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00

each
each
each
each
each
each
each
each
each
set

each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



71-2231
71-2231-0-S
71-2226
71-2226-0-S
67-1110A
67-1110B
40-0133
66-1494
66-1495
66-1497
66-1493
66-1498
65-317
71-1165
65-1149
40-0171
40-0171TI
40-0167
68-0931
40-1018
71-2223
71-1166
66-0222
15-1525
29-0410
66-0221
E63
67-0439
31-0106
68-0805
68-0155
24-0563
40-0162
40-0156

40-0157
40-0296
40-0292
40-0294
E41

E205
41-0807 B44
41-0807P
E37

N4

E38

E200
60-3755
41-0715

~

40-0970
40-0972
40-0972GPM
40-0974
40-0974GPM
40-0976
67-1422
67-1420
R3650
68-0910
66-1190PES
66-1190
66-1191
66-1215

PES BSA B25 1971 Standard Inlet Valve Guide colisbro (stem seal required) 71-2231
PES BSA B25 1971 Oversize Inlet Valve Guide colisbro (stem seal required) 71-2231
PES BSA B25 1971 Standard Exhaust Valve Guide colisbro 71-2226

Pes BSA B25 1971 Oversize Exhaust Valve Guide colisbro 71-2226

BSA A7/A10 Inlet valve Guide Std Colisbro 67-1110A (Seal required) PES
BSA A7/A10 Exhaust valve Guide Std Colisbro 67-1110B PES

BSA C15 Inlet and Exhaust Valve Guide Colisbro 40-0133 PES

BSA M20 M21 B31 B33 Inlet/Exhaust Tappet Guide 66-1494

BSA M20 M21 Exhaust tappet 66-1495

BSA M20 M21 Inlet Tappet Head 66-1497

BSA BSA M20 M21 Inlet Tappet B31 B33 Inlet & Exhaust 66-1493

BSA M20 M21 Exhaust Tappet Nut 66-1498

Stem seal for PES BSA inlet valve guide

BSA B50 A65 Valve Spring Retainer 71-1165 titanium PES

BSA B31 B33 Valve Spring Retainer PES

C15 B40 B44 Valve Spring Retainer (NOS)

BSA C15 B25 B40 B44 Valve Spring Retainer Titanium PES

BSA C15 B40 B44 Valve Collet each 71-3748 40-0167 99-0067

BSA B50 B44 B25 Valve spring seat 68-0931 40-1018 PES

BSA B25 Valve Spring Seat 40-1018

BSA B25 Triumph TR25W Valve Spring Set

B50 Valve Collet 71-1166 each

BSA M20 M21 split cotter set 66-0222 (pr)

Exhaust Valve Collet BSA B31/33 M33

Inlet Valve Collet BSA B31/33 M33

BSA M20 M21 valve spring retainer 66-0221

BSA C15 B25 B40 B44 B50 B32 B34 Valve springs 40-0168 40-0169 65-2494 65-2495 E63
BSA A7 A10 1947 on valve spring set 67-0439 67-0440

BSA M20 M21 valve spring Set

BSA A65 etc (66-72) Valve Spring Set 68-0805, 68-0806,71-1177,68-0930
PES BSA Tappet adjuster ele foot 68-0155

PES BSA Tappet adjuster locknut 24-0563

BSA Dome Nut 40-0162 70-1435 PES Stainless

BSA A50 A65 B25 B44 B40 C15 Thackery Washer 70-1574 40-0156 06-7698
BSA/Triumph Rocker spindle thrust washer 70-1575 40-0158

BSA B50 Rocker Shaft Washer 40-0157 70-1330

BSA B50 B44 B40 C15 Rocker Exhaust 40-0296 40-0297

BSA B50 B40 B44 C15 Rocker Inlet 40-0292 40-0293

BSA B50 B44 B40 C15 Rocker Spindle 40-0294

B50 decompressor blanking plug

Decompressor button

PES C15 B40 B44 Braided Rocker Feed kit + adaptor 41-0807

PES BSA B50 Braided rocker feed kit (E32 E34) 41-0807

PES BSA B50 (B44?) Plug Guard kit E37 (thick washers + nuts)

Head Stud Nut 7/16 UNF 14-0304

PES BSA Plug Guard Spigot Nut E38

Alternator blanking plug

BSA A50 A65 B50 Contact Breaker Lead Grommet 40-0705 41-0674 70-8148
BSA B25 B44 Alternator Grommet 70-8155 41-0715

Cylinder Components

BSA B25 Triumph T25 Hepolite Piston Assembly std

BSA B25 Triumph T25 Hepolite Piston Assembly +20
GPM BSA B25 Piston Assembly +0.020"

BSA B25 Triumph T25 Hepolite Piston Assembly +40
GPM BSA B25 Piston Assembly +0.040"

BSA B25 Triumph T25 Hepolite Piston Assembly +60

BSA A7 Piston Assembly (Pair) +0.060"

BSA A10 Hepolite Piston Assembly (pair) +0.040" 7.25:1
BSA A10 +40 Piston Ring Set

BSA A65 Hepolite Pistons (pair) +40 9:1

PES BSA M20 Forged Piston Assembly 82mm Standard 66-1190
BSA M20 Piston Assembly Std 66-1190

BSA M20 Piston Assembly +20 66-1191

BSA M21 Piston Assembly Std 66-1215

15.00
15.00
15.00
15.00
15.00
15.00
15.00
22.50
24.00
15.00
31.00
18.00
4.00
19.00
19.00
6.00
15.00
2.50
7.00
6.50
15.00
3.00
6.00
2.00
3.00
5.00
15.00
16.00
8.00
16.00
9.00
2.50
6.00
1.50
1.00
1.00
55.00
55.00
18.00
2.00
17.00
75.00
55.00
48.00
1.00
4.50
2.00
1.50
3.50

40.00
40.00
136.00
40.00
136.00
40.00
120.00
80.00
40.00
80.00
182.00
120.00
120.00
52.00

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
pair
each
each
each
set
set
set
set
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
set

each
each
each
each
each



66-1217
66-1217A
70-6907
17844
41-0793GPM
41-0250
41-0252
41-0793A
TE20
TE21
E204
E204LS
E204A
41-0797B
41-0797A
71-2749
71-2749A
71-27498B
E12
E12A
E13
E13A
E14

E15

E15B
E15A
E17
E17A
61105
61104
61103
61110
AA129
AA131
1515S
TE20A
E204R
E12R
E13R
HB44STD
R26510
AA133
AA135
E20B
71-2970

E207

PESCIRCLIP
70-6869
70-9265
AlS
FS-2131
ES56H
PESO005
ES6F
E56G
71-1218
ES56C
E56
ES56A
E56B
66-1435
66-1434

BSA M21 Piston Assembly +40 66-1217

BSA M21 Piston Assembly +60 66-1217A

Triumph 5TA 500cc Piston Assembly std 63mm Hepolite
Triumph T120 650cc Piston Assembly +40 pair Hepolite

BSA B44 Std Piston Assembly GPM 41-0793 79mm

B40 Piston Assembly std 79mm

B40 Piston Assembly +20 79.5mm

BSA B44 PES 79mm Piston Assembly Forged

BSA B44 PES 79.5mm Piston Assembly Forged (see TE20) 41-0797
BSA B44 PES 80mm Piston Assembly Forged TE21 41-0797
BSA B44 PES 82mm Piston Assembly Forged (475cc) 500 conversion E204
BSA B44 PES 82mm Piston Assembly Forged 100mm Long Stroke E204LS
BSA B44 PES 84mm Piston Assembly Forged E204A

B44 Piston Assembly Slipper GPM +20

B44 Piston Assembly Slipper GPM +40

B50 GPM piston kit +20

B50 GPM Piston Assembly Slipper +40

BSA B50 GPM Piston Assembly Slipper +60

B50 PES Forged 84mm Piston kit E12

B50 PES Forged 84.5mm Piston kit E12A

BSA B50 PES 85mm Forged Piston kit E13

BSA B50 PES 85.5mm Forged Piston kit E13A

B50 PES 86mm Forged Piston kit E14

BSA B50 PES 88mm Forged Piston kit E15

BSA B50 PES 88mm 500cc Short Stroke Forged Piston kit E15B 13/16 pin
BSA B50 88.5mm PES Forged Piston kit E15A

BSA B50 PES 90mm Forged Piston Kit E17

BSA B50 PES 90mm Short Stroke Forged Piston kit E17A
Piston Ring Compressor 75-80mm

Piston Ring Compressor 65-70mm

Piston Ring Compressor 60-65mm

Piston Ring Compressor 70-75mm

BSA B44 Std Piston ring set 79mm GPM

BSA B44 GPM Piston Rings +40

BSA B40 B44 Piston Ring Set +60 79mm CORDS

BSA B44 PES 79.5mm Piston Ring Set

82mm PES Piston ring set

84mm PES Piston ring set

85mm PES Piston ring set

Hepolite B44 piston rings std

Hepolite B50 piston rings +20

GPM piston ring set B50 STD

GPM piston ring set B50 + 40

88mm B50 PES Piston Ring set

BSA B44 B50 GPM Piston circlip 66-0954 71-3700 71-2970
PES 2 1/2" x 3/4" Gudgeon Pin

PES 2 1/4" x 3/4" Gudgeon Pin

PES 2 1/4" x 13/16" Gudgeon Pin

PES Piston circlips 0.750"

B25 Triumph 500/650 GPM Piston Circlip 70-6869 40-0979
PES BSA B25 Iron Liner

PES AJS Iron Liner Standard

Hepolite BSA A10 Ariel Iron Liner 69.99mm bore

PES BSA B44 Iron liner 78x87mm for Standard Road Engine
BSA B44 Iron Liner O/S for 82mm piston PES

PES BSA B44 Victor Alloy Liner 82x87.5

PES BSA B44 Victor Alloy Liner 82x88 O/S

BSA B50 Iron Cylinder Liner inc. rod reliefs. 84-86mm 71-1218 PES
PES BSA B50 Alloy Cylinder Liner

PES Liner 88x96 Spun Iron

PES Alloy Liner 88x96

B50 Liner 88x96.5 Spun Iron O/S PES

BSA Exhaust Valve Lifter Spindle M20 M21 Side Valve 66-1435
BSA Exhaust Valve Lifter Spindle Bush M20 M21 Side Valve 66-1434

52.00
52.00
80.00
80.00
144.00
72.00
72.00
220.00
220.00
220.00
220.00
220.00
220.00
160.00
160.00
168.00
168.00
168.00
220.00
220.00
220.00
220.00
220.00
220.00
230.00
220.00
220.00
230.00
8.00
8.00
8.00
8.00
42.00
42.00
18.00
42.00
42.00
42.00
42.00
21.00
21.00
26.00
32.00
42.00
1.00
22.00
22.00
22.00
2.00
1.00
50.00
80.00
47.00
80.00
80.00
80.00
80.00
80.00
80.00
80.00
80.00
80.00
19.00
10.00

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
set
set
set
set
set
set
set
set
set
set
set
set
each
each
each
each
pair
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



41-0687D
41-0687A
41-0687B
41-0687C
41-0687E
41-0687NEB
E60A
71-3634
E60C

E60D

~

E31A
E31B
E52A
E44

E44B
E44A
E44D

E6
71-29278B
71-2927A
ES01A
E501
70-4610A
70-4610
41-0031A
41-0031
C9A
40-0968
27-0209B
27-0209
M196
M1968B

57-2166
C202
uL7
uLs
02-0084
28-0043
67-1505
40-3064
21-2044
21-1872

21-2111
21-2111A
40-1034A
40-1034B
57-4679
06-7694-5
40-0394
70-8009
71-2547
70-8737
70-87378B
70-8737A
68-0839
70-9114
70-7354
66-4903

70-8040

PES BSA B44 Compression Plate 0.0385" 41-0687
PES BSA B44 Compression Plate 0.059" 41-0687
PES BSA B44 Compression Plate 0.079" 41-0687
PES BSA B44 Compression Plate 0.115" 41-0687
PES BSA B44 Compression Plate 0.234" 41-0687
NEB 84mm B44 Compression Plate 0.115" 41-0687
PES BSA B50 Compression plate 0.035" E60a

PES BSA B50 Compression plate 0.058" 71-3634
PES BSA B50 Compression plate 0.0785" E60c

PES BSA B50 Compression plate 0.115" E60d

Engine Castings, Covers & Caps

PES 72 B50 R/H outer engine cover

PES 1975 B50 R/H outer engine cover (fluted)

PES 1976-78 BSA L/H outer engine cover E52A

PES 72 B50 double dish L/H outer engine cover

PES 1975 B50 double dish L/H outer engine cover (fluted)

PES 1972 B50 single dish L/H outer engine cover

PES 1975 B50 single dish L/H outer engine cover (fluted)

Rocker Breather Stub

PES BSA B50 B44 Pushrod Inspection Cover 40-0208

PES BSA Clutch Cover Breather Stub (Alloy) 5/8 UNF thread 71-2927
Breather Stub (Alloy)

BSA B50, B44, B40 Rocker Breather Round PES

BSA B50, B44, B40 Rocker Breather with Flats PES

3TA 5TA Finned Triumph Rocker Cap 70-4610 (set of 4)

Triumph 3TA 5TA T100 T120 Rocker Cap 70-4610 71-2744 70-3752 PES

BSA C15 B40 B44 Billet Tappet Finned Cap finned PES

BSA C15 B40 B44 Billet Tappet Cap std PES

BSA B25 B50 Triumph Pre Unit Billet Rocker Box Cap finned 40-0968 70-1564 PES
BSA B25 B50 Triumph Pre Unit Billet Rocker Box Cap std. 40-0968 70-1564 C9 PES
PES BSA M20 M21 M33 B31 B32 B33 B34 C10 Primary Chain Cap 27-0209 27-209 Brass
PES BSA M20 M21 M33 B31 B32 B33 B34 C10 Timing Cover Cap 27-0209 27-209 Aluminium
PES BSA M20 Gearbox Oil Filler Plug with integrated o ring M196 Aluminium

PES BSA M20 Gearbox Oil Filler Plug with integrated o ring M196 brass

PES Chain case cap with o ring 57-2166A

BSA Chain case cap with o ring 70-8231 57-2166 40-0715 PES

BSA B50 73 oil filler cap PES 83-3046

BSA 67 QOil Filler Cap

BSA 67 Oil Frame Plug

PES BSA A7 A10 B31 B33 M20 M21 C10 C11 Qil Tank Drain Plug with magnet Stainless Steel
PES BSA B31 B33 M20 M21 M33 Gearbox Drain Plug Stainless Steel with magnet
BSA B40 WDB40 B44 Pressure Relief Plug 67-1505 40-0201

BSA C15 B40 SS80 SS90 Gearbox/Crankcase Filler Plug 40-3064 57-1110

Non Return Valve Bolt 21-2044 40-0376 3/8 UNC

BSA Triumph Timing Aperture Plug 21-1872

gearbox drain plug magnet

PES BSA B50 B25 gearbox drain plug with magnet 21-2111 21-1857 13TPI

PES BSA B50 Gearbox Drainplug with magnet(stainless steel) 21-2111a 21-1857 13TPI
PES BSA C15 B40 B44 Gearbox Drain Plug with magnet 40-1034A 16TPI

PES BSA C15 B40 B44 Stainless Steel Gearbox Drain Plug with magnet 40-1034B
PES BSA B50 Late B44 B25 Gearbox Dipstick 57-4679 40-1033

Norton Rocker Cover Set 06-7694/5

1/4 Dowel Pin 40-0394 40-394 70-8011

3/8 dowel 71-1989 70-8009 5/16 ID

5/16 dowel 71-2547 70-8010 66-3074 1/4 ID

BSA B50 Points Cover 70-8737 40-0684

PES Engraved BSA Points Cover 70-8737 (o-ringed) 40-0684

PES BSA Points Cover 70-8737 (o-ringed) 40-0684

BSA B Series Timing Inspection Cover(o ringed) PES 68-0839

BSA A Series Timing Inspection Cover(o ringed) PES 70-9114

Points/Timing Cover Socket Bolt 70-7354

BSA B C M Chaincase Distance Sleeve 66-4903

Timing & Cam

PES BSA B50 B25 B44 TR25W Vernier Timing Pinion Gear 41-0569 70-8040

15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00
15.00

250.00
275.00
225.00
225.00
250.00
225.00
250.00

8.00
4.00
4.00
15.00
17.00
40.00
9.00
10.00
9.00
10.00
9.00
22.00
12.00
11.00
14.00
6.00
6.00
8.00
5.00
4.00
15.00
15.00
7.00
2.50
1.00
5.75
0.25
10.00
15.00
10.00
15.00
10.00
37.00
2.00
2.00
2.00
6.00
22.00
20.00
40.00
40.00
0.50
7.00

50.00

each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
set

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
set

each
each
each
each
each
each
each
each
each
each

each
each



41-0560
E64
65-0692
66-2007
66-0661
70-8315
70-8150
40-0030
40-0676
71-1679
E25
E25C

65-2420
E25B

71-2513
41-0790
71-3657
40-0683
60-0605

~

40-0933
71-1625
71-1625A
E8
41-0638
41-0638A
66-0058
66-3069
66-7514
71-2115
40-0247
15-4316
Al0
332BSA
TRI835
335BSA
327BSA
338BSA
328BSA
318BSA
319BSA
313BSA
321BSA
312BSA
40-0111
71-1424
15-4110
66-4902
66-3068
68-0071
40-0977
57-2641
40-0243
70-3833
40-3281
65-2316
188614
86-8769
A12
40-0679
41-3054
70-6026
70-8157

BSA Timing Woodruff key B25 B44 B50 70-1580 41-0560

BSA B50 Timing Cam Gear PES E64 High Flange

BSA B31 B33 M20 M21 M33 Crankshaft Timing Pinion 65-0692

BSA M20 M21 Cam Pinion Bolt 66-2007

BSA M20 M21 B31 B33 Crankshaft Camshaft Shim Drive Side 66-0661

BSA Inner cam bush 70-8315 41-0513 PES

BSA Outer Cam Bush 70-8150 40-0222 PES

BSA C15 B40 Inner cam bush 40-0030 distributor models PES

BSA C15G B25 B40G Early B44 Inner Cam Bush 40-0676 70-3175 9/16" bore
BSA B50 Cam shaft woodruff key E75

BSA MX Cam 71-2567 (71-1680)

MX Cam ( 17mm)

PES Cam Conversion circlip

BSA M20 M21 M33 B31 B33 B34 Inlet/Exhaust Camshaft c/w Bushes 65-2420
Joy 56B Cam

BSA B50 Cam Follower 71-2513

PES B44 heavy duty pushrod 41-0790

PES B50 heavy duty pushrod 71-3657

BSA B50 Timing Pillar Bolts 40-0683 70-4747

White P.V.C. Engine Timing Disc 190mm diameter

Gaskets & Oil Seals

BSA B25 T25 Head Gasket 40-0933 70-8081

PES BSA B50 Cylinder Head Gasket 71-1625

BSA B50 Composite Head Gasket 92mm

PES 94 1.D. B50 head gasket

PES BSA B40 B44 Head Gasket 41-0638 41-0066

PES 87mm BSA B40 B44 Head Gasket 41-0638 41-0066

BSA M20 M21 Head Gasket 66-0058

BSA B31 B33 M20 M21 Plunger Gearbox Inner Cover Gasket 66-3069

BSA M20 M21 M33 C10 C11 B31 19370on Cork Primary Chaincase Gasket 66-7514
BSA B25 B40 B44 B50 TR25W Oil Pump Gasket 71-2115 41-0804 71-1428
BSA C15 C25 B25 B40 B44 B50 TR25W Primary Chaincase Gasket 71-1418
BSA M20WD Clutch Cover Gasket 15-4316

BSA B50 Full Gasket Set A10 BSA339

BSA B44 B40G Gasket Set 1964-1970

BSA B25 Triumph Gasket set 1971-72

BSA B25 C25 Gasket set 1967-70

BSA C15 Gasket set 1959-67

BSA A65 All years Gasket Set

BSA 350cc OHV B40 Star SS90 1960-65 Gasket set

BSA M20 M21 Gasket Set 1939-49

BSA M20 M21 Gasket Set 1950-61

BSA B33/B34 Gasket Set Alloy Head 1950-63

BSA B34 Gasket Set 1956-63

BSA B33 B34 M33 Gasket set

BSA C15 B40 sump plate gasket 40-0111

BSA Sump Gasket 67-1288 71-1424

BSA B31 B33 M20 M21 Gearbox Inspection Cover Gasket

BSA B31 B34 C10 C11 M20 M21 M33 Primary Chaincase/Footrest Bar Cork Gasket
BSA M20 M21 Gearbox Outer Cover Gasket Rigid 66-3068

PES BSA A50/A65 24mm Manifold/Head Spacer Tufnol 68-0071A 3mm thick
BSA C15 B40 C25 B25 B25 B44 B50 Crankshaft Qil Seal 70-8154 40-0977
BSA Kick Start Oil Seal 57-2641

BSA C15-B50 gearbox Mainshaft/clutch backplate seal 40-0243

Triumph primary chaincase backplate oil seal 70-3833

BSA C15 B40 C25 B25 Kickstart 5/8" Oil Seal 40-3281 70-4568

BSA B31 B33 M20 M21 Magneto Dyno Oil Seal 65-2316

Lucas Generator Oil Seal 188614

Contact breaker oil seal BSA Bantam 3 + 4 sp

Oil seal kit BSA B25/C25/B44/B50

BSA Cam Shaft Oil Seal 70-8153 40-0679

BSA Gear Box Oil Seal 41-3054 70-8015

BSA Gearbox Oilseal circlip 70-6026

B50 crankshaft oil seal circlip 70-8157

2.00
45.00
55.00
4.50
1.50
14.00
16.00
7.00
12.00
2.00
110.00
110.00
2.50
72.00
125.00
55.00
25.00
25.00
2.50

4.50

12.00
25.00
46.00
25.00
15.50
19.00
21.00
2.50
7.50
2.00
4.00
2.00
42.00
42.00
36.00
25.00
35.00
40.00
26.00
37.50
25.00
32.00
40.00
22.00
1.00
2.50
1.00
1.00
2.25
6.00
3.50
3.50
3.50
3.50
3.50
3.50
3.50
3.50
11.00
3.50
3.50
2.00
1.00

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
set
set
set
set
set
set
set
set
set
set
set
set
each
each
each
each
each
each
each
each
each
each
each

each
set

each
each
each
each



R17266

90-0749
40-0025
68-0598
40-0148

70-8158
68-0289

40-0969

PES OFC

27-0209A
M196A
NBR70
24-4258-0
60-3530

~

57-3758
42-0048
NORT1
82-4761
15-1555
15-0082
40-0042
40-0389
27-5710
65-2335
65-2425
06-2662
14-1431
57-4906
21-0541
71-0070
70-1513
71-3358
70-5861
70-9352
70-0470

70-8116
110643

00-0812
97-0532
70-9688
82-1808
71-2500

67-0540
04-0019
57-4226
57-1431
37-0977
90-5719
37-3714
37-3872

06-0014
60-4601
70-5866

R17x26x6 PES cam conversion oil seal

Crankshaft DS & TS Qil Seal Bantam D5 etc

BSA B44 B25 C15 B40 Drive Side Crank Qil Seal 70-8025 40-0025
BSA B25/B44 Triumph TR25W o ring on oil pipe 68-0598 70-8259
BSA C15 B40 B44 B50 Rocker shaft O-ring

chain case cap o ring

BSA Inner cover O-ring 70-8158

BSA Inner cover O-ring 3/16 x 5/16

PES Timing cover o ring

B50 Tappet cap o ring

B44 Tappet cap o ring

Husqvarna kickstart Quadrant o ring 15.3id 2.4 section

Triumph rocker o rings

PES Oil Filter carrier/B44 braided rocker kit o ring

Viton o ring for PES Oil Pump

PES BSA M20 Primary Chain Inspection Cap o ring

BSA M20 Gearbox filler/Level o ring

Clutch Actuating Arm RH cover o ring

PES BSA B + M Group Kickstart Bush O ring

BSA B50 B44 B25 G-box drain plug O-Ring 60-3530 68-3168
Other British

BSA Rocket 3 footchange shaft 57-3758

BSA A10 Rocker oil pipe Copper 42-0048

Norton Rocker Model 18 (Inlet or Exhaust) PES

Triumph stand spring T120 T100 T150 82-4761 82-3617 82-8382
BSA Cush Drive Sleeve B C M Series M20 M21 1937-1954

BSA B31 B33 M20 M21 Breather Disc 15-0082

C15 B40 Crankshaft bearing sleeve 40-0042

C15 B40 Crankshaft timing side bush 40-0389 40-0391

BSA M20 WD Gearbox Adjuster Eye Bolt 27-5710

BSA B31 B33 M20 M21 Idler Pinion Spindle 65-2335 NOS

BSA M20 Inlet Cam Pinion Spindle 65-2425 NOS

Norton Crankcase stud 06-2662

Triumph Crankcase stud 14-1431

Triumph kickstart crank boss T150/T160 57-4906

Kickstart pedal bolt Triumph/BSA 21-0541

Rocker Arm Ball Pin Triumph 71-0070

Tappet Adjuster mushroom Triumph T120 T140

Tappet Adjuster mushroom T160 UNF

Triumph T120,TR6 Exhaust tappet guide block.

Triumph T100, T120, T140 inlet and exhaust tappet guide block
Tappet nut T120 70-0470

T100 Valve guide

BSA A65 Valve top collar 70-8116

Royal Enfield Rear Silent Block Bushes Swing arm

AJS Matchless Steering Damper Disc 00-0812 000812

Triumph Front Mudguard Stay Clip 97-0532

Triumph Exhaust Heat Shield Mounting Clip 70-9688

Triumph Front Tank mounting bolt 350/500/650cc

BSA/ Triumph Front brake cable washer c/shaft washer 67-0645 71-2500
BSA D7 rod kit

BSA Bantam Clutch Spring

fibre drive wheel BSA A7/A10 automatic advance/retard unit. 44 Teeth.
Norton Layshaft 2nd pinion 24T 04-0019

Triumph T160 Camplate Plunger 57-4226

Triumph kickstart pawl 350, 500 unit constructions 57-1431

BSA Bantam D7 D10 D14 Triumph Tiger T20 Cub brake shoes (pair) 90-5719 37-0977 Girling
BSA Bantam D7 D10 D14 Triumph Tiger T20 Cub brake shoes (pair) 90-5719 37-0977 Ferodo
BSA A65 OIF Triumph brake shoe springs 8" Con Hub 37-3714 19-7745
BSA A65 71-74 Triumph T120 TR6 Rear Brake Cam Conical Hub 37-3872
Pivot pin + anchor plate nut triumph (also 42-5864)

Norton Brake shoe spring pr

Triumph Split Cable Grommet T140 60-4601

Triumph TR6 T120 etc 63-70 11/2" inlet Muffler L or R side

4.00
1.50
3.50
0.25
1.00
1.00
1.00
1.00
2.00
1.00
1.00
0.50
1.00
1.00
3.00
1.00
1.00
1.00
1.00
1.00

8.00
12.00
100.00
3.00
56.00
0.50
18.00
75.00
9.00
16.00
27.00
0.50
0.50
14.00
2.75
5.00
5.00
3.50
31.00
31.00
2.50
4.50
2.00
5.00
1.75
5.00
10.50
4.00
2.00
118.00
1.00
9.00
12.00
3.00
1.50
11.00
24.00
3.50
21.00
6.00
3.00
0.25
45.00

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
pair

pair

each
each
each
pair

each
each



42-2970

CMO0004
CMO0005
CMO0006

CMO00025

~

E107
E111
E110
E112
E83
E81
E86
E171
E132
E133
E134
E87
E89
E92
14-0401

E96
E201A
21-0692
W3B
E139
E136S
E136
S707
S706
E129
E98
E118
E131A

E100A
E120A
E97
E119
E126

E125
1009

E127
E124
E124A
E124D
E124B
E124C
E131
E137
E137A

E77
E79
E79A
E152C
E152

BSA B31 B33 Silencer for swinging arm models (1954-57). Brituro BES23
NEB B44 Square barrel

NEB B44 piston kit

NEB B44 Head gasket

NEB Dural crank sprocket B44

NEB B44 Push rod set

Triplex Chain 80 Pitches

PES 4V Parts

Kickstart lever 79 on 20mm splined E107 Moto Villa Beta 81-82 PES
Kickstart lever 79 SUPPORT WASHER

Kickstart lever 79 e circlip

Kickstart lever 79 compression spring

PES 4Valve Inlet Manifold

4V Rocker Cover E81 PES

PES 4V heavy duty pushrod

J302B cam (new)

J56a cam (new)

J302 cam (new 17mm)

4V J56a cam (new 17mm) PES
Rocker shaft inlet 4V

Rocker shaft exhaust 4V

4V Rocker shell set E92-95 PES

4V Tappet locknut

Tappet screw

PES 4V tappet screw

PES 6mm lash cap

BSA A50 A65 Triumph T120 T140 690on TR6 68-72 Bi-hex nut 3/8UNF N18 21-0692
4V Washer, cylinder stud W3b

PES 4V Stud E139

4V C/case short stroke - head stud E136

4V C/case - head stud E136

Exhaust valve (old style 4V)

Inlet valve (old style 4V)

4V Braided Rocker feed kit

PES 4V Inlet valve 6mm

PES 4V Exhaust valve 6mm

4V Collet 6mm E131A

PES 4V Inlet Valve guide E100 (colisbro)

PES 4V Exhaust Valve Guide E120 (colisbro)

PES 4V Inlet Valve guide 6mm E100 (colisbro)

PES 4V Exhaust Valve Guide 6mm E120 (colisbro)
PES 4V valve seat inlet E97 bronze

PES 4V valve seat exhaust E119 bronze

Stem seals 6mm 4V (Husqvarna, Husaberg, Vertemati)
Stem seals 7mm 4V

4V Valve spring set E125/6s

Valve spring retainer 6mm ti (old style)

Valve spring retainer (alloy)

Valve spring retainer (titanium) 6mm stem E127 6mm 4V PES
4V Spring seat Imm PES

4V Spring seat 1.5mm PES

4V Spring seat 1.75mm PES

4V Spring seat 2mm PES

4V Spring seat 2.5mm PES

4v Valve collets

Stud Barrel short UNC E137 4V

Stud Barrel short UNF E137a 4V

1/8x3/8 dowel pin

3/16x5/8 dowel pin

84mm Forged PES 4valve Piston Kit E77 (1000ccWasp)
85mm Forged PES 4valve Piston Kit (1000cc Wasp)
88mm PES 4valve Piston Kit E79A

90mm PES Piston ring set

90mm PES 520cc SS 4valve Piston Kit E152

70.00
339.00
200.00

10.50

34.00

29.00

35.00

200.00
1.00
0.50
2.00

75.00

150.00

30.00

110.00

110.00

110.00

110.00

80.00
80.00
60.00
3.00
5.60
6.00
3.00
2.00
2.00
5.00
15.00
15.00
31.00
29.00
25.00
30.00
30.00
3.00
20.00
20.00
20.00
20.00
20.00
20.00
3.50
5.00
85.00
6.00
9.00
15.00
5.00
5.00
5.00
5.00
5.00
2.50
4.00
4.00
2.00
2.00

230.00

230.00

230.00

40.00

230.00

each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
set

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
set

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
set

each



E152A
E152B

~

TA17
TG1
TG2
TG3
TG10
TG4
TG5
TG6
TGS
TG9
TG11
TG13
TG14
TG15
TG16
TG17
TE20
TES
TE11
TE100
TAG6
TE46
TH45
TH44
TH44A
TH44C
TH44B
TAL
TA2
TC20
TC21
N13
TR31
TCO

~

F32
F32A
uL4
ST2
A32
A32A
A50
F105
F100
F101
F102
F104H
F34
F34L
H30
H30A
R14
R13
R13E
19-7744
R13R
GRIM
40-5525
H47
R12
R31

90mm PES 580cc 4valve Piston Kit E152A
90mm PES 620cc 4valve Piston Kit E152B

PES Trials Parts

Trials 4 Speed Gearbox Complete (PES)

Sleeve Gear TG1 Trails

Spacer Needle Bearings Sleeve Gear TG2
Retainer Needle Bearings Sleeve Gear TG3

Cam Plate A3D112 TG10 (see G40)

PES 4 Speed Selector Fork Mainshaft A3D110 TG4 Trials
Mainshaft 3rd. Gear 21T TG5 Trials

Mainshaft 2nd Gear 18T TG15 Trials

Mainshaft 1st. Gear 15T TG8 Trials
Mainshaft 4 speed Trials A3D102 TG9

Layshaft 1st. Gear 27T TG11 Trials (A3D206)
Selector Fork Layshaft A3D110 TG13

Layshaft 2nd Gear 24T TG14 Trials (A3D207)
Layshaft 3rd Gear 20T TG6 Trials (A3D208)
Layshaft 4th Gear 14T TG16 Trials

Layshaft 4 speed Trials A3D107 TG17

79.5mm PES Trials Piston kit std

Trials Cylinder Head + Barrel Fixing Stud TE8 PES
Crank Pin Trials (BSA C15, B40) TE11 PES

Crank Pin PES Trials (PES BSA C15, B40) TE100 PES
Trials complete balanced crank 70mm stoke PES
Trials Kickstart Quadrant TE46 (includes bearing) PES
Trials Side panels TH45 (PES)

Trials Seat Assembly TH44 PES

Trials Cast Seat Foam TH44a PES

Trials Seat Foam Base Board

Trials Seat Cover Black

Trials Front Spoke and nipple set

Trials Spoke and nipples set Rear

Trials Swing Arm Spindle with Nuts

Trials Swing Arm Spacer Tube TC21 PES

Trials Rear Wheel Spindle Nut N13 M15 x 1.25
Trials Rear Wheel Spindle TR31 (+N13) PES

78 Trials frame/swing arm inc. fittings TC9 TC19

PES Cycle Parts

Steering Head Nut F32

Steering Head Nut F32a Very Early 77 on yokes
66-67 PES BSA Ultra light Yokes and 1" spindle assy.
PES 1971 Yokes and spindle assy.

71-73 Yokes and headstock spindle assy. (B50)

74 PES Yokes and headstock spindle assy. (B50)
78-79 Yokes and headstock spindle assy.

up to 1979 yoke shield

73 Steering Head Nut (PES)

73 Bottom Yoke Adaptor (PES)

73 Top Yoke Bottom Lock Nut (PES)

72 - 75 Steering Stem(PES) Heavy Duty

72 - 75 Steering Stem

78-79 Steering Stem (long)

Handlebar Clamp Complete with Bolts H30 each
Handlebar Clamp Complete with Bolts H30a (Angled) each
PES BSA Brake Shoe Spring 37-0135 42-5841 R14
PES 6" Brake Shoe R13 Billet (replaces 37-3804) pair
Brake shoe R13 Billet (exchange) pair

B50 Relined brake shoe (exchange) pair

6" Relined Brake Shoe (Exchange) pair

Grimeca Relined Brake Shoe (Exchange) pair

BSA C15 B40 6" Brake Shoes (pr) 40-5525

Clevis Pin 42-5836 60-4252 H47

BSA Front Brake Shoe Pivot 37-3798 R12 PES

Rear Pivot Pin R31 PES

230.00
230.00

1,000.00
140.00

45.00
81.00
115.00
65.00
48.00
150.00
40.00
81.00
115.00
60.00
48.00
70.00
220.00
15.00
60.00
60.00
800.00
90.00
120.00
150.00
100.00
45.00
25.00
60.00
90.00
30.00
10.00
5.00
25.00
2,000.00

20.00
20.00
350.00
450.00
450.00
450.00
450.00
7.00
15.00
15.00
15.00
55.00
45.00
45.00
50.00
60.00
4.00
85.00
35.00
35.00
35.00
35.00
25.00
1.50
10.00
20.00

each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
set

set

each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
pair

pair

pair

pair

each
pair

each
each
each



R50
uL6
H36
H40
H46
H39
PESR4
PESR2
PESR3
ST4
ST4
R30U
R30
R51
R51W
ST3
PESR1
R500
R18
R18A
R47
R47A
R47B
37-3799
R19F
R19
R53
R20
A29
R101
uL3
R102
R34
R11
R8
uL10
R44
R45
R29
R29W
uL2
R29a
STS5

R28
R28A
R28B
R46
R10
R100
R17
A8
A9
R3

R22
R3V
R22Vv

R3E
R22E
Whbuild
C38
uL5

Front Rear Pivot Pin R50 78 forks Banana Swing Arm PES
U/L Rear Pivot pin UL6 PES

Rear brake levers H36 PES

PES Rear Brake Lever Pivot bolt H40

PES Rear Brake Cable adjuster nut H46

PES Rear Brake swivel H39

BSA Rear Brake Plate Bare 19mm

PES Rear Brake Plate bare 19mm

PES Rear Brake Plate bare 16mm

PES 71 Rear brake plate bare 16mm

PES 71 Rear brake plate bare 20mm

PES Rear Brake Plate Bare R30U '73-77 16mm Unpainted
PES Rear Brake Plate Bare R30 '73-77 16mm

Rear Brake Plate Bare from Frame no. 78105 R51 16mm

Rear Brake Plate Bare from Frame no. 79 Works R51W 20mm

PES 1971 Front brake plate bare 20mm

PES Front Brake Plate Bare 20mm

Front Brake Plate Bare '73 (BSA Forks)

Front Brake Plate Bare R18 '74on 16mm

PES Front Brake Plate Bare R18 20mm Spindle

Front Brake Plate Bare R47 '78 Forks 20mm

Front Brake Plate Bare R47 Later Marzocchi Forks 20mm
PES Front Brake Plate Bare Marzocchi Tie forks 17mm
PES BSA B50 B25 Brake Actuating Cam 37-3799 R15
PES Lightweight Front brake arm return Spring

PES Rear Brake arm return spring R19

PES Late 78 on rear brake arm return spring

BSA brake arm 37-3694 R20

71-73 rear hub with bearings A29

PES 73 rear hub outer spacer 16mm

67 rear hub outer spacer 19mm

PES 71 hub outer spacer 20mm

PES 740n rear hub with bearings R34a

PES 750n Front Hub with bearings R11a (fits all years)
PES Front Wheel Spindle 74-78 PES

PES Euro Front Wheel spindle

PES Front Wheel spindle 78 on (also PES forks)

PES Front Wheel Spindle Nut 78 on

PES Rear Wheel spindle R29 '72-'79

PES Works Rear wheel Spindle 20mm

66 Rear wheel spindle 19mm

PES Aird 79 Rear Wheel Spindle

PES 71 + 66 UL wheel spindle nut

6005 Spacer

PES Rear Wheel Bearing Spacer Std R28

PES Rear Wheel Bearing Spacer '73 R28a

PES Rear Wheel Bearing Spacer Works 20mm Spindle
PES Front Wheel Bearing Spacer 20mm spindle R46
PES Front Wheel Bearing Spacer 16mm spindle R10
PES brake drum liner R/H thread R100

PES Circlip Hub R17

PES Spoke and nipples set Front

PES Spoke and nipples set Rear

PES Wheel rim 21x1.6x36 TC

PES Wheel rim 18x2.15x36 TR

PES Wheel rim 18x2.15x36 TC

PES Wheel rim 21x1.6x36 morad valanced

PES Wheel rim 18x2.15x36 morad valanced

Excel Gold Wheel rim 18x1.1.85x36

Excel Gold Wheel rim 21x1.6x36

Excel Gold Wheel rim 18x2.15x36

Wheel building

PES Swing arm nut with integrated washer 21-0755 C38
PES Swing arm spindle kit 1967 with nuts (B50 Faber)

20.00
5.00
90.00
15.00
7.50
5.00
85.00
85.00
85.00
125.00
125.00
130.00
125.00
125.00
125.00
135.00
95.00
140.00
135.00
135.00
135.00
135.00
135.00
40.00
15.00
15.00
20.00
15.00
250.00
3.00
3.00
3.00
275.00
225.00
40.00
25.00
30.00
5.00
40.00
50.00
30.00
30.00
2.00
2.00
7.50
7.50
7.50
7.50
7.50
50.00
3.00
65.00
65.00
109.00
112.00
124.00
95.00
105.00
180.00
130.00
150.00
60.00
4.00
90.00

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
set

set

each
each
each
each
each
each
each
each
each
each
each



C24JA
C86
C24A
c27
C27A
C278B
C24
C39
C14A
Co4
uL9
C29
C14
C25
C25A
C89
C26
C21
C22
C22B
C69A
C69
Cc22C
C65
C68
H999

70-5966
70-2271

H18

H65B

H25
H60
H61
w1
83-4932
83-2980
82-9093
66-8091
68-6018
82-9064
92075-084
61138
06-0636
82-9127
42-8051
82-5228
82-0967
82-5229
40-8010
40-8107
H94
42-3159
57-2330
57-0495
90-0135
89-3208
40-4850

PES Swing arm spindle kit 1979 JA with nuts
PES JBR 80-81 Swing Arm Spindle with nuts
PES BSA B50 OIF B25 TR5W Swing arm spindle std with nuts
PES BSA Swing arm plates medium (pair)

PES BSA Swing arm plates short(pair)

PES BSA Swing arm plates long (pair)

PES BSA Swinging arm spindle kit 83-3554
PES B50 swing arm bush C39 83-2012 (hardened and ground)
Thrust washer - swinging arm 80 on JBR C14a
PES 80-81, JBR swing arm bushes C94

PES UL Swing arm spacer tubes

PES B50 Swing arm spacer tubes 83-1969 C29
PES BSA to 79 Thrust washer Swing Arm 83-2233 C14
Swinging Arm Dust Seal 83-3014 C25
Swinging Arm Dust Seal 79 on C25a

80-81 Hiro Swing Arm Dust Seal C89 PES

PES BSA Swing Arm Seal O-ring

PES 74-76 Chain Guide Complete

PES 74-76 Chain Guide Roller

PES 74-76 Chain Guide Bush

PES 78-81 Chain Tensioner Guide Complete
PES 78-81 Chain tensioner plates

PES 78-81 Chain tensioner Roller

PES 78-81 Chain tensioner spring

PES 78-81 Tenisoner Pivot

Weld on footpeg kit (wide)

79 Special Chain adjuster

1 3/4" Exhaust pipe clamp

15/8" Exhaust pipe clamp

15/8" Front exhaust pipe

1 3/4" Front exhaust pipe

15/8" Front exhaust pipe 73-74

PES Alloy Silencer (made to order to fit bike)

Rubbers

PES air box Bellows Black

PES air box Bellows Red

PES 76-81 fork wiper boot red

Fuel Tank Mounting rubber Strap (short) H25

Front Tank Strap (Interspan)(medium) H60

Rear Tank Strap (airfilter 78 rear tank)(long) H61

Rubber Washer for side panels/mudguards 3mm thick
PES 1973 BSA A65 OIF 71-73,Triumph Twins T120/T140 71-85 Tank Rubber Half Moon
BSA Petrol Tank Front Mounting Rubber up to 78

BSA Anti roll/tank rubber 82-9093

BSA M20 M21 M33 Fuel Tank Mounting Rubber 66-8091
BSA A65 Tank Rubber(half moon) 68-8018 C201 78 on
BSA Tank centre rubber upto 74 82-9064 40-8085 83-4934
Petrol Tank Mount Rubber Kawasaki Triton PES up to 78
Norton Fuel tank Rubber featherbed

Norton Oil Tank Mounting Rubber

BSA B44 Oil tank mounting rubber 82-9127

BSA A+B Petrol Tank Rubber Pad 42-8051

Triumph Unit Construction Pre OIF Tank Mounting Rubber 82-5228 82-1813
BSA/Triumph fuel tank mounting washer 82-0967
Triumph front tank rubber 69 On 82-5229

Tank Centre Grommet BSA (40-8010) shallow

Tank Centre Grommet BSA (40-8107) deep

PES Tank front mount rubber mid 76 on

BSA Kickstart Rubber (Embossed)

Triumph Kickstart Rubber open end

Triumph Pre-Unit Clutch lever rubber boot

Kickstart rubber Bantam/Cub 90-0135

BSA Gear Change Rubber oval 89-3208

BSA Footrest rubber C15 B25SS 29-7551 40-4850

100.00
40.00
40.00
22.00
22.00
22.00
90.00

8.00
8.00
15.00
10.00
10.50
5.00
5.00
5.00
8.00
0.50
75.00
3.50
3.00
80.00
50.00
6.00
20.00
2.00
25.00
7.50
4.50
4.50

250.00

250.00

250.00

250.00

22.00
15.00
19.00
4.00
5.00
6.00
0.50
3.50
10.50
1.25
2.50
4.00
2.00
3.00
3.00
3.00
2.00
4.00
1.00
1.00
1.25
4.00
2.00
1.00
2.00
2.00
3.00
2.00
1.50
4.00

each
each
each
pair

pair

pair

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
pair

each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



83-2626
BULTACO
C200PES
C200

~

83-2776

4VALVE DECAL

JBR3

~

HE69A
73BPES
73FPES
H102A
H125A
H69D
H102PES
H125B

H102C
H69R
H69PES

H109
73CPES
JBR4

H76
H102
78-0301
68-9330
H103
H69

~

uL1
ST1
C500
Cc1
Cc54
C50
C53
C60
Cco1
C91A
C503
JBR1
JBR5

PES remote reservoir bottle clamp rubber mounting kit (4's)
Triumph T120/T140 Carb Air Hose

Bultaco Lower chain guide rubber 79 on

PES Industrial Polyeurethane Swing Arm Protector

PES Swing Arm Protector

Tank

BSA Tank fixing Assembly 83-2776 40-8105 PES
PES 76-77 fuel tank

PES 78 fuel tank H100

PES 79 fuel tank (upto frame 1307?)

PES 79WR-81JBR fuel tank

PES Filler neck

PES fuel tank boss

Filler Necks

BSA fuel tank boss

76-81 Filler Necks

Pr. 4 Valve sticker

Clews Stroka decal pr

CCM Tank decal 74-77 pr

CCM Tank decal 78-81 pr

CCM Trials Tank/Side Panel Decals 350 Complete TH14 TH34
BSA red/yel medium decal

BSA small gold decal

JBR Tank Decal pr

Seating

PES 75-77 Seat Base

73 Seat Base PES

73 Seat Foam PES

78 Seat Base PES

79-81 JBR Seat Base PES

1976 Seat Foam PES

1978 PES Seat Foam H102PES

79-81 JBR Seat Foam PES

79-81 Seat Cover tan&black

79-81 Seat Cover (blk&red)

78 seat cover red

76 Seat Cover red

76 Seat Cover black PES Foam

76 Seat Cover black

74 seat cover black

73 PES Seat Cover black

JBR Seat cover

74 Seat

76-'77 Seat

PES 1978 Seat Base and Foam

Universal Seat Large Type Lycette Saddle BSA B&M Group 78-0301
BSA A50/A65 Seat raised

73 Complete Seat (Base needs fitting to frame)(supplied in parts)
75 Complete Seat H69

Frame kits

PES 66-67 BSA rep frame/swing arm/peg/fittings
71 PES frame/Swing arm inc. fittings

73 PES frame/swing arm inc. fittings

74 PES frame/swing arm inc. fittings

75 PES frame/swing arm inc fittings

76 PES frame/swing arm inc. fittings

1977 PES frame/swing arm inc. fittings

78 PES frame/swing arm inc. fittings

79 PES frame/swing arm inc. fittings (J.Aird special)
79W PES frame/swing arm inc. fittings (Works)
80-81 PES frame/swing arm inc. fittings

80 PES JBR frame/swing arm inc. fittings

PES JBR Front engine mount packing washer
Ultralight Engine Mount Spacer

12.00

4.00
10.00
25.00
12.50

10.00
280.00
280.00
280.00
280.00

8.00
3.00
8.00
3.00
8.00
7.00
6.00
6.00
6.00
60.00
10.00
9.00
6.00

60.00
60.00
100.00
60.00
60.00
100.00
150.00
100.00
35.00
35.00
35.00
35.00
35.00
35.00
35.00
35.00
38.00
175.00
175.00
210.00
64.00
128.00
175.00
175.00

3,100.00
3,000.00
3,000.00
3,100.00
3,000.00
3,000.00
3,000.00
3,000.00
3,200.00
3,100.00
3,200.00
3,300.00

2.00

set

each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
pair
pair
pair
pair
set
pair
pair
pair

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



C501
C502
C15

C49

C55

ce7
C67JB
c67wW
H96-H83
H82-H83
H118-H119
C57

C56

C58

C8

~

21-2160
21-2094
66-4900
42-6011
37-3726
37-1709
67-6005
67-5543
37-3925
25-5247
25-5226
25-5226A
97-0095
65-5380
65-5328
65-2520
65-2534
97-2654
65-9071
65-5333

~

PES0025A
PES0025
66-4718A
66-4718
15-6056
15-6046
15-6045
EB144
66-4722
15-6051
N572
EB108
15-6053
PES0023
PES0022
PES0024A
PES0024
15-6052
31-4197
66-4721
03-0938
EB106
24-6055
24-6040
65-6294
65-5126
65-5127

PES 73 Swing Arm

Swinging arm 1974 PES

Swinging arm 1975 PES

Swinging arm 1976 PES

Swinging Arm 1977 PES

78 std Swing Arm PES

78 John Banks rep. Swing Arm PES
78W PES Swing Arm

PES Foot peg kit for 76-78

PES Foot peg kit for 73-75

PES Foot peg kit for 79-81

PES Plastic Blanking Plug C57 78 on
Blanking Plug up to frame no. 77155
PES Plastic Lockstop C58 short

PES Plastic Lockstop C8

BSA Cycle Parts

BSA B25 B50 Bottom engine mounting stud PES 72-74 3/8 21-2160

BSA B25 B50 footrest mounting stud 3/8"

BSA B31 B33 M20 M21 M33 Footrest Stud 66-4900

BSA A&B Stainless Spoke + Nipple Set Rear QD WM2 x19" Rim 42-6012

BSA A&B Stainless Spoke + Nipple Set Rear QD WM2x18" Rim 37-3724/6

BSA A/B&M Stainless Steel Spoke and Nipple Set Front Single sided 8" hub 19" Rim
BSA A&B Stainless Steel Rim Rear Quick Detach WM2 x19" 67-6005

BSA A/B&M Stainless Steel Front Single sided 8" hub 19" Rim 67-5543

BSA B25,B50,A65,A75 Triumph Rear conical hub brake shoes 37-3925 37-3926 Girling
BSA A7 A10 B31 B33 Steering damper star washer 25-5247 97-0095

BSA A/B Swinging Arm models Steering Damper Knob 25-5226 5/16" thread

BSA M20 Damper Knob Bakelite 3/8" thread 66mm diameter

Triumph 3TA 5TA T100 T120 Steering Damper spring plate 25-5247 97-0095

BSA A7 A10 B31 B33 A50 A65 M20 M21 Triumph Steering Damper Friction Disc 97-0435
BSA A7 A10 B33 B31 Steering Damper Bottom Nut 65-5328

BSA B31 B32 B33 B34 M20 M21 C10 C11 Engine Sprocket Cush Drive Bearing Nut

BSA M20 M21 B31 B33 Cush Drive Splined Hub/Sleeve with Spacer 4 Lobe 65-2534
BSA A50 A65 B25 B40 B44 B175 Bantam C25 C15 Triumph T20 Cable Guide Clip 97-2654 40-5090
Mudguard/wiring lead clip (set of 6) 65-9071 25-8980 01-1382

BSA Handlebar Clamp 97-2655 65-5333

BSA M20 Cycle Parts

PES BSA M20 Long Field Stand Kit

PES BSA M20 Longer Field Stand Kit

PES BSA M20 Rear Prop Tube Long 66-4718

PES BSA M20 Rear Prop Tube Longer 66-4718

PES BSA M20 Field Stand Collar 15-6056

PES BSA M20 Field Stand Front Clamp 15-6046

PES BSA M20 Field Stand Rear Clamp 15-6045

PES BSA M20 Field Stand Clamp Bolt 3/8 CElI

PES BSA M20 Field Stand Knuckle

PES BSA M20 Field Stand Fulcrum Bolt 15-6051

BSA M20 Field Stand Fulcrum Bolt Spring Washer 7/16

PES BSA M20 Field Stand Pivot Bolt Nut EB108 7/16 x 20TPI
PES BSA M20 Field Stand Pivot Bolt 15-6053

PES BSA M20 Field Stand Pivot

PES BSA M20 Field Stand Point

PES BSA M20 Prop Stand Washer with flat

PES BSA M20 Prop Stand Washer full round

PES BSA M20 Field Stand Spring 15-6052

PES BSA M20 M21 M33 Field Stand Clip 31-4197

PES BSA M20 M21 M33 Prop Stand Clip Plate 66-4721

BSA M20 Field Stand Clip Plate Bolt 3/8 x 3/4

BSA M20 Field Stand Pivot Half Nut 3/8 Cycle

BSA M20 M21 Rigid Rear Stand Pivot Bolt 24-6055 66-4772
BSA M20 Rear Stand Nut 24-6040 NOS

BSA M20 M21 M33 B31 B33 Plunger Rear Brake Drum & Sprocket 42T 65-6294
BSA A50 A65 M20 M21 Steering Cone Top 65-5126

BSA A50 A65 M20 M21 Steering Cone Bottom 65-5127

750.00
900.00
750.00
750.00
750.00
750.00
760.00
760.00
80.00
80.00
80.00
4.00
4.00
4.00
4.00

11.00
12.00

7.50
32.00
32.00
32.00
56.00
56.00
15.00

4.00
10.50
10.50

4.00

4.50
13.00
12.00
48.00

1.00

7.00
13.50

165.00
212.00
75.00
75.00
6.50
18.50
19.50
10.00
44.00
14.50
0.25
5.00
10.00
27.55
4.75
3.00
3.00
2.00
15.00
4.00
1.00
1.00
4.00
1.30
90.00
6.50
8.00

each
each
each
each
each
each
each
each
set

set

set

each
each
each
each

each
each
each
each
set
set
set
each
each
pair
each
each
each
each
each
each
each
each
each
set
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



66-4149
66-6105
15-7092
66-6106
15-6737
24-6841
66-4708
15-7051
66-6104A
66-6104
15-7047
35-9236
36-3528
24-0898
24-6994
66-5524
35-6440
66-4636
27-8447
28-2338
27-8449
66-8089
30-0659
27-5683
15-6325
66-4175
66-4604
24-7385
27-5684
RFG
66-4157
66-4158
66-4581
24-5207
EA80
24-5205
15-6240
66-4602
66-4601
M80
30-0660
15-4100
65-7037
66-7034
65-6794
66-8089
66-9067
66-7029
65-7007
15-7980
15-7985
27-4517
29-9254
66-9068
DuU42
65-9021

C36
G6497081
HU12
00121-99VM
BUMP RUBBER
00163-05
00163-15

BSA A50 A65 M20 M21 TR25W Steering Cup 66-4149 82-8988
BSA M20 Rear Wheel Spindle Nut QD Hub 66-6105

BSA M20 WD & M GROUP 1938-48 REAR WHEEL NUT 7/16"
BSA M20 WD Rear Wheel Spindle 66-6106

BSA M20 WD Girder Forks Front Wheel Spindle Nut and Washer 15-6737

BSA M20 Felt Washer Cup 24-6841 PES

BSA M20 M21 Shakerproof Washer 7/16 66-4708

PES BSA M20 M21 Rear Hub Dust Plate 15-7051

BSA M20 WD Rear Hub Dummy Spindle 66-6104A

PES BSA M20 M21 Rear Hub Spigot and Brake Drum Support 66-6104
PES BSA M20 Rear wheel Hub bearing sleeve thrust washer 15-7047
BSA M20WD 7" Brake Shoes 35-9236

BSA M20 WD Front Hub Spindle Locknut Washer 36-3528

PES BSA M20 Front Wheel Spindle Nut 5/8x20 TPI 24-0898 20mm hex
PES BSA M20 Front Wheel Spindle Nut 5/8x20 TPI 24-6994

PES BSA M20 Front wheel Spindle Small Washer 66-5524

BSA M20 Brake Shoe Return Springs Set of 4 NOS 35-6440

PES BSA M20 Backstay and Seatlug Bolt 66-4636

BSA M20 Tank Bolt Sleeve 27-8447 NOS

BSA M20 Tank Bolt Front 28-2338 NOS

BSA M20 Tank Bolt Cup 27-8449 NOS

BSA M20 Tank Bolt Rear 66-8089 NOS

BSA M20 Tank Bolt Washer NOS 30-659

BSA M19-20-21-22-23-24 Engine Mount Stud 27-5683 PES

BSA M19 M20 M21 M22 M23 M24 Chain Stay Stud 15-6325 PES

PES BSA M20 M21 Front Down Tube and Chainstay Stud Solo with Crankcase Shield Fitted

BSA M20 M21 Chain Stay Stud 66-4604 1/2" x 8 1/4" 20TPI

BSA M20 Chainstay Bridge Clip 24-7385 NOS

BSA M19 M20 M21 M22 M23 M24 Engine Mount Stud Kit 27-5684 PES
BSA M20 Rear Frame Alignment Gauge Rigid Frame PES

PES BSA M20 M21 M33 Rear Engine Plates Pair 66-4157

PES BSA M20 M21 M33 Front Engine Plates Pair 66-4158

PES BSA M20 M21 Chainstay Distance Piece 66-4581

PES BSA M20 Chain Stay Stud 24-5207

BSA M20 Chainstay Stud Nut

PES BSA M20 Chain Stay Stud 24-5205

PES BSA M20 M21 Chainstay Bridge Distance Collar (ctr) 15-6240
PES BSA M20 M21 Chainstay Bridge Distance Collar (LH) 66-4602
PES BSA M20 M21 Chainstay Bridge Distance Collar (RH) 66-4601
BSA M20 Backstay Bridge Clip

BSA M20 Rear Brake Pedal Washer NOS 30-0660 30-660

BSA M20 Rear Brake Pedal Washer Thin NOS 15-4100

PES BSA M20 M21 Rear Brake Operating Lever Bush 65-7037
PES BSA M20 M21 Rear Brake Pedal Bush

PES BSA M20 Lifting Stay and Mudguard Support Stud

BSA M20 M21 Petrol Tank Mounting Bolt

BSA M20 Rear Hub Adjusting Spanner NOS 66-9067

PES BSA M20 M21 Rear Brake Pedal Shaft (Fulcrum Pin)

BSA M20 Rear Brake Rod 65-7007 NOS

BSA M20 Rear Brake Rod Spring 15-7980

BSA M20 Rear Brake Rod Flynut 15-7985

BSA M20 Rear Brake Rod Toggle End Screw 27-4517

BSA M20 Hub Adjusting Spanner NOS 29-9254

BSA M20 Detachable Wheel Spanner NOS 66-9068

DU42 6.5" headlamp WD type with blackout visor

BSA M20 Toolbox Strap 65-9021

PES Suspension Parts

Hudson 14" ctrs classic gas ( decarbon) shock Pr. PES
Girling Damper Adjuster Double Ended C Spanner G6497081
Seal Block Complete

1pr. Ohlin rebuild kit (piggy)

Bump Rubber RCU 12.5mm STD KX80/85CC

Ohlins Bump stop rubber large 12.1/40/45

Ohlins Bump stop rubber small 12.1/32/25

6.50
8.00
11.25
15.00
10.00
4.00
0.50
5.00
24.00
30.00
10.00
68.00
2.25
3.50
4.00
3.00
20.00
9.00
5.25
2.50
5.75
5.00
1.75
5.00
10.00
13.00
11.00
12.00
6.25
30.00
25.00
20.00
5.00
5.00
0.50
5.00
10.00
10.00
10.00
7.50
1.25
1.25
7.00
8.00
8.00
5.00
13.00
12.00
20.00
7.00
20.00
2.50
12.00
10.00
96.00
17.00

500.00
9.50
20.00
110.00
10.00
13.00
6.00

each
each
each
each
each
each
each
each
each
each
each
pair
each
each
each
each
set
each
each
each
each
each
each
each
each
each
each
each
each
each
pair
pair
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
pair

each
each
each
each
each
each



Cc84
C84A
C84B
00118-05
00338-06
00136-01
00125-12
00125-02
00125-04
00125-0
00125-08
00103-00
00166-02
00338-10
00417-01
00122-01

C75
C76
C85
$137-02
C125

00338-09

00133-03
00141-03
00302-01
ITCBUMP
00142-01
SCM10
00120-01
00105-01
00138-01
00561-01
00305-01
00338-01
00338-04
00338-02
00338-03
c201
00180-05
C78

Cc79
C79G

19-7440
HUO029A
HU029
FA1

C125wp

~

124339
124341
143506

144219
F30
F30C
F30D
F30E
F64
F66

Ohlin rose bush spacer std. 8mm S-118-02

Ohlin rose bush spacer short.8mm S-113-01

Ohlin rose bush spacer long 8mm S-118-21

Ohlin rose bush spacer std 10mm S-118-05

Rod-end O-ring 00338-06

Rod End Spherical Bearing S-136-01

Ohlin Aluminium rod end mount long #68 (husky)

Ohlin Aluminium rod end mount #25

Ohlin Aluminium rod end mount #35

Ohlin Aluminium rod end mount #55

Ohlin Aluminium rod end mount #60

PES Ohlin 12mm piston shaft (state length) shoulder to shoulder

Ohlin body dust cap (gold)

Ohlin body dust cap o ring

Ohlin Shock Body Wear Sleeve

Ohlin Scraper Seal

Ohlin body piston (emulsion conversion)

Ohlin Spring Collet 00116-01

Ohlin Spring Seat 00115-01

Ohlin Nylon Spring Separator C85 1978 on

Ohlin Reservoir Hose $137-02 (1978) each 255mm under hex

Ohlin Seal Block complete S-121-01 00121-01

Seal block inner bush PTFE lined

Ohlin Seal Block outer o-ring

Seal Block inner o ring

Internal bump stop

Ohlin Shock Piston Band

Ohlin Reservoir ITC/Piggy

Ohlin ITC external bump stop rubber

Ohlin Remote Schrader Valve S-142-01

Ohlin Schrader Valve M10

Ohlin Remote Reservoir end cap S-120-01

Ohlin Remote Piston S-105-01

Ohlin O-ring 31x5NBR70 Remote end cap (piston) S-138-01 2 needed per reservoir
Ohlin Reservoir End Cap (Piggy)

Ohlin Reservoir Piston (Piggy)

Ohlins Bleed O-ring (Piggy)

Ohlins Reservoir O-ring (Piggy)

Ohlins Cylinder O-ring

Ohlins Head O-ring

Ohlin Outer Hose Spring (78PES)

Spring Rear Shock Ohlin Short (46-90-27) yellow (black) 90mm 00180-05
Spring Rear Shock Ohlin C78 1978on large 00180-32 (46-240-32) blue (black)
Spring Rear Shock Ohlin C79 1978on Short (46-100-26) orange

Spring Rear Shock Ohlin C79 1978on Short (183lbs/in ) Green
Corte-cosso reservior piston

BSA Shocks A50/A65 (pr) 13.4"

Hudson Shock Springs (pair)(Girling) PES 70-110lb HU029A 64541530 Silicon Chrome
Hudson Shock Springs (Pr)(Girling) PES 68-100lb HU029 64541530 SiCr
Falcon shock body dust cap PES

WP shock body dust cap PES

WP Seal Block complete 12mm shaft PES

Forks

Royal Enfield Fork bottom slider RH 350cc & 500cc

Royal Enfield Fork bottom slider LH 350cc & 500cc

Royal Enfield Switch Assy LH (Early Type) 350cc 500cc

Royal Enfield fork main tube (stanchion) pr

Royal Enfield front fork spring 500cc pr

PES 35mm SiCr Prog Fork Spr (Pr) 3 N/mm-4.8 N/mmx480mm F30

PES 35mm SiCr Prog Fork Spr (Pr) 4.7 N/mm-6N/mmx470mm F30C 29mm
PES 35mm SiCr Prog Fork Spr (Pr) 5 N/mm-6.5N/mmx460mm F30D 29mm
PES 35mm SiCr Prog Fork Spr(Pr) 5 N/mm-6.5N/mmx460mm F30E 28mm O/D
78 Fork Top Nut Stanchion F64 PES

78 Top Fork Nut o ring PES

4.00
4.00
4.00
4.00
0.50
7.00
22.50
20.00
20.00
20.00
22.50
35.00
12.00
1.00
9.00
3.00
10.00
7.50
6.00
5.00
40.00
20.00
2.00
1.00
1.00
7.00
8.60
20.00
7.00
10.00
10.00
30.00
25.00
3.00
30.00
10.00
1.00
1.00
1.00
1.00
5.00
36.00
39.00
36.00
36.00
10.00
53.00
65.00
60.00
5.00
12.00
25.00

35.00
35.00
18.00
30.00
12.00
85.00
85.00
85.00
85.00
20.00

1.00

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
pair

pair

pair

each
each
each

each
each
each
each
pair
pair
pair
pair
pair
pair
each
each



F59A
F59

F49

F60

F44
97-3765
F65

F63

F58
97-3947
14-0302
97-4011
143899
97-4166

~

24-5226
66-5065
24-5227
24-5228
24-5233
24-5237
24-5208
25-5241
27-5152
15-5241
15-5239
15-5247
15-5249
15-5190

~

31403087N
313303415
VERO1

~

HUIV Guide
HUIV Guide O-S
HUEV Guide
HUEV Guide O-S
HUVG250
HUVG450
HU-VS7
HU-VS8

HU B Shoes
BP-005
FDB2018SG
REC544

REC453

56-W105

161253701

PES 1978 Fork oil seal F59A thin (2 required each fork top) 5.00
PES 1978 Fork oil seal F59 thick (1 required each fork top) 5.00
PES 78 Fork Stanchion Circlip F49 2.00
PES 1978 Fork oil seal circlip F60 2.00
PES Fork Slider Bottom Nut F44 20.00
PES Bottom Fork Slider O Ring 97-3765 1.00
PES Fork Schraeder Air Valve F65 10.00
PES 780on Silicon Chrome Fork Springs F63 Pr. 15.6 N/mm x 560mm 85.00
PES 780n SiCr Fork return Springs Pr. F58 12.5 N/mm x 100mm 56.00
PES BSA lower fork caps Pair 97-3947 25.00
BSA B50 B25 A65 Rocket 3 Triumph TR6 T120 X75 Nyloc Nuts with washers 4.00
fork spring triumph T140 each 16.00
Royal Enfield spring front fork pr 350cc 10.00
Fork top nut washer 97-4166 1.00
M20 Fork Parts

PES BSA M20 M21 Front Fork Spring Distance Washer 24-5226 10.00
PES BSA M20 Fork Bush for Girder Forks 66-5065 10.00
PES BSA M20 M21 Fork Spring Top Sleeve Girder Forks 24-5227 30.00
PES BSA M20 M21 Spring Top Fixing bolt with Peg 24-5228 10.00
PES BSA M20 M21 Fork Spring Bottom Sleeve with Peg Girder Forks 24-5233 25.00
PES BSA M20 M21 Fork Spring Bottom Sleeve Washer 24-5237 2.50
PES BSA M20 M21 Front Fork Steering Stem Nut 24-5208 15.00
PES BSA M20 Girder Forks Steering Damper Bottom Plate 25-5241 3.00
PES BSA A B M Group Steering Damper Plate 27-5152 Pre 1952 3.50
PES BSA M20 M21 Fork Top Links Assembly 15-5190 15-5241 15-5240 15-5196 144.00
PES BSA M20 M21 Fork Bottom Links Assembly 15-5239 15-5242 15-5249 15-5247 15-5196 176.00
PES BSA M20 M21 Fork Link Bolt with nut 15-5247 15.00
PES BSA M20 M21 Fork Link Bolt with nut 15-5249 15.00
PES BSA M20 M21 Fork Link Bolt with nut 15-5190 5/16 x 26TPI 15.00
Peg for 24-5233

Vertemati Parts

Vertemati Swing arm o ring 31403087N 0.50
Vertemati Swing arm bush 313303415 3.00
Vertemati Valve Spring Retainers Ti 20.00
Husqvarna Parts

Husqvarna Uprated Inlet Colisbro Valve guide Air Cooled 6mm 25.00
Husqvarna Uprated Inlet Colisbro Valve Guide Oversize +1 Air Cooled 6mm 25.00
Husqvarna Uprated Exhaust Colisbro Valve guide Air Cooled 6mm 25.00
Husqvarna Uprated Exhaust Colisbro Valve Guide Oversize +1 Air Cooled 6mm 25.00
Husqvarna 250 Uprated Colisbro Valve Guide 14.00
Husqvarna 450 Uprated Colisbro Valve Guide 15.00
Husqgvarna Inlet Valve Seat 15.00
Husqvarna Exhaust Valve Seat 15.00
Husqgvarna brake shoe (exchange)single front leading shoe pair 30.00
Husky 125/250 90-91R Brake pads BP0O05 10.00
Ferodo Off road sinterGrip FDB2018SG 19.00
Husqvarna Inlet Valve 610cc 36mm 26.00
Exhaust Valve 610 32.5mm 24.00
Husqvarna Exhaust Valve 510cc 30mm 26.00
Husaberg Valve stem oil seal 4.00
Con-rod kit Husaberg 130CTC 190.00
Con-rod kit Husgvarna 610 190.00
Husqvarna flywheel

Big end pin Husqvarna 27.00
Husqvarna Kickstart Quadrant 161167702

Husqvarna Kickstart Quadrant 150.00
Wossner Husky Piston kit 4St. 91.5MM 510cc 142.00
Husky Piston kit 4St. 98mm 110.00
Husaberg Piston kit 95mm 110.00
Husky Piston kit 2stroke

Steel Cluch Plate 96 onward 6.50
Husky sump plug 8.50

each
each
each
each
each
each
each
pair
pair
pair
set
each
pair
each

each
each
each
each
each
each
each
each
each
set

set

each
each
each
each

each
each
each

each
each
each
each
each
each
each
each
pair

pair

pair

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



800075704
Husky Swing
800068886
800068579

58-9004

161527501
161165003
161540701

P400220850350-2
28-9450

161534801

HU 83
35-7288

56-994
MX-09010
B6005

MA B SHOES
NU305C3

E88

~

JAWA
GM

~

256-12117-02
VSS003

411-11610-21
HAL253
HAL251
HAL252

~

8194D100

K162010
G43
K192313
G10A

G19
K212515-8
G28
K222613
K222617

Husky oil union 4T 94-98
Husqvarna Swing Arm Spindle with welded nut
Husky chain tensioner

Husky Oil filter

Main seal

Husqvarna Seal set 90-99 45t
C/Case gkt all 4 strokes

Husky 610 Te Tc Outer clutch cover gasket
Husky ignition cover gasket
Husky Clutch cover gasket
Husky Base gasket 410-510
Base gasket 4T-410/610

C/set Gasket Husky 350 4S
Gasket set Husky 510 4S.
TC/TE610 Husky kit

Husqvarna Reed Peta

Oil strainer
Husqvarna seat cover '83
Husqvarna Gear Lever

Husky Ignition Crank End

italjet

Honda Parts

Folding Shift Lever Honda XL/XR

honda xr/x1125/185/200 atc200 conrod and big end pin only

Honda CRF250R CRF 250X Conrod Kit MX-09010
honda crf450 2002 crankshaft seals Wiseco
Trident Stub Stack for david drew

large nut as per david drew

pin for Paul Wilkinson

Maico Parts

250 Con rod kit

490 Con rod kit

Maico 490 Piston kit

250 Maico Piston kit

250 Maico cylinder liner

Maico Clutch Basket

Maico Brake Shoes (exchange) pair
Maico crankshaft right bearing NU305C3
Maico Main Bearing 3305-C3
4V/Maico Exhaust Manifold gasket
GM Parts

Jawa Valve spring retainers

GM Speedway Colisbro Valve guides

Yamaha XS Parts

Yamaha XT500 titanium valve spring retainers
Yamaha TX750 73-74 Valve Stem Qil Seals (set of 4)
Yam XS650 Friction plates

Yamaha Piston Rings 4L1-11610-21

Yamaha XS650 86mm Forged Piston 850cc PES
Yamaha XS650 Ist Gear 31Tooth

Yamaha XS650 Ist Gear 32Tooth

Suzuki Parts
Suzuki RM250 PE250 77-81 68mm Wossner Piston Kit

Bearings & Seals

K16x20x10 needle cage for PES Race Gearbox G111
K16X20X17 Wide 4 speed 1st Gear needle cage bearing
K19x23x13 PES JH26 A65 needle roller bearing

NTN K19x23x17 needle cage Quaife sleeve gear G10a
K20X24X17 Needle Cage Bearing G19 JH24
K21x25x15.8 needle cage

K21x25x17 Layshaft Needle Cage Bearing

K22x26x13 JH25 PES A65 needle roller bearing
K22x26x17 PES A65 needle roller bearing JH27

12.00
25.00
14.10
2.50
16.00
37.00
6.80
5.50
5.50
8.00
9.00
5.50
58.00
68.00
75.00
8.50

35.00
22.00
35.00
50.00

8.00
22.00
86.00
15.00
15.00

3.00
15.00

91.00
75.00
98.59
70.00
98.00

30.00
20.00
32.00

8.00

8.00
15.00

20.00
5.00
6.00

30.00

190.00
100.00
100.00

106.00

5.00
7.50
10.00
7.00
7.00
23.00
17.00
10.00
10.00

each
each
each
each
each
set

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each

each
each
each
each
each
each
each
pair

each
each
each

each
each
each

each
each
each
each
each
each
each
each

each

each
each
each
each
each
each
each
each
each



A43
42-3075
68-0034
57-1614
Cc28
40-3292
B108
E169
97-4031

44643
66-4149K
6000 2RS
68032RS
619032RS
60042RS
G6
CLO1A
6202 2RS
R9
15-7045A
26-6890
29-3857
57-0448
24-0732
24-0724

NJ305-C3
24-4065
24-4217
37-2363
90-0011
6005 2RS

27-0261
24-722
24-0722
56-0510
56-0502
90-6063
LU189210
65-2045
32005
63477
600677 C3
6206 2RS C3

32005JRRS
6201 C3
16208

1-4 roller
2mm roller
8mm roller
26-0650P
60-2364
70-8019

~

A34
276P-1B

BSA B50 Full Engine Bearing Set

A50 A65 layshaft Needle bearing 42-3075 B1212 Koyo

A50 A65 drive side layshaft needle bearing 68-0034

Triumph layshaft bearing B1212 torrington

B50 swing arm bearings C28 83-2245

BSA Triumph Layshaft bearing Koyo 40-3292 70-8005 B108

BSA B50 Layshaft bearing 70-8005 unbranded B108

PES 80-81 Needle Roller Layshaft into Crankcase E169

BSA Triumph OIF headstock bearing 97-4031 C48

PES Trials Headstock Bearing

headstock bearing spacer

PES headstock bearing 80-81

BSA A,B,M Headstock Bearing Conversion Kit 66-4149, 65-5126, 65-5127
6000 2RS Chain roller

6803 2RS PES cam conversion bearing

61903 2RS PES cam conversion/PES Clutch Pressure Plate Bearing
60042RS Bearing

PES Back Plate Bearing G6

PES Clutch Basket Bearing CLO1A

6202 2RS (BSA front conical wheel bearing)

PES Wheel bearing mag hub R9

PES BSA M20 Rear Hub Bearing Thrust Washer/Seat 15-7045 to go with 26-6890
BSA M20 Rear Wheel Bearing with spacer washer 15-7045

BSA Gearbox output Bearing 29-3857 70-8014

BSA A65 Gearbox Output Bearing 68-0023 68-3556 57-0448

BSA C10 C11 C12 C15 B25 B40 B44 RH Main Bearing 70-8003 24-0732

BSA B50 B40 B44 B25 B31 B33 M20 TR25W T25 Main Bearing 70-9974 C3 Polyamide Cage Extra

Capacity

B50 Main Bearing 70-9974 24-0724 NJ305 C3

BSA B+M Group Gearbox Output Bearing 1938-62 Rigid and Plunger 6207 C3
BSA M20 Gearbox Mainshaft Bearing ZZ C3

BSA Triumph LJ7/8ZZ Bearing Crank shaft 37-2363 65-5883

BSA Triumph Mainshaft bearing LI5/82Z 90-0011 70-8151

6005 2RS C3 Bearing

61803 2RS Bearing

HK1712 Cam Bearing

NKIB5907 Iko Bearing

NKIB5905 lko Bearing

BSA M20 M21 Timing Side Outer Main Bearing 27-0261

BSA M20 M21 Timing Side Crankshaft Roller Bearing C3 24-0722

BSA M20 M21 Timing Side Crankshaft Roller Bearing C3 Hepolite 24-722
Crank bearing 25x31x20

Crank bearing 25x31x17

Lucas E3L Dynamo Bearing Drive End BSA Triumph Norton Ariel 57-0530 90-6063
Lucas E3L Dynamo Bearing Commutator End (Double Sealed)

BSA B31 B32 B33 B34 M20 M21 Drive Side Main Bearing 65-2045 C3 2RS
32005 bearing

6342z bearing

6006ZZ C3 Branded Bearing

Timken 6206 C3 2RS 30x62x16mm sealed bearing

MJ7/8 C3 bearing

Koyo 32005JRRS Bearing

NSK 6201 ZZ C3 bearing

Ina NK1620B Bearing

608Z Bearing

1/4 x 1/4 roller

2mm x 7.8mm loose roller

8mm x 30mm loose roller

1/4 x 1/2 rollers Big End Roller Bearing 26-0650 Replaces 1/4x1/4"

1/4 Ball Bearing non return valve 60-2364 1-4675

7/32 Ball Bearing 60-2363 65-2593 70-8019 clutch rack

Amal Carburettors & Parts

Amal Mk 1932/301 L/H
Amal BSA M20 M21 Ex W.D. 1940-1945 Carburettor Complete 276P/1B

125.00
10.00
10.00
10.00

6.50
10.00
6.00
22.00
10.00
13.00

10.00
44.00
4.00
6.00
5.00
4.00
6.00
6.00
4.00
7.50
4.00
15.50
12.00
15.00
10.00
40.00

40.00
10.00
8.00
8.50
10.00
6.00
3.00
4.00
56.00
42.00
15.00
55.00
32.00
16.00
16.00
3.00
3.00
5.00
5.00
3.00
6.00
12.00
15.00
10.00
3.00
5.00
2.00
0.50
0.50
1.00
1.50
1.00
1.00

96.00
350.00

set
each
each
each
each
each
each
each
each
each
each
each
pair
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each



19-2401
A34AA
932-18

A17

928-20
2624-300
389-3832
H23
2036-064
2622-061
2622-071
RKC-523
622-208
2622-144
70-4919
71-3573
65-1419
65-1232
70-7821
70-7821A
71-2592
71-2592A
141829
PES1
2036-123
2928-123
4-035

5-077
376-100-140
376-100-160
376-100-400
376-100-340
376-100-260
376-100-220
376-100-350
376-100-290
376-100-300
376-100-310
376-100-360
376-100-420
376-100-430
376-100-440
376-100-450
376-100-650
622-122-106
622-079-107
622-079-125
622-122
622-122-105
2928-079-108
124-026-25
124-026-25W
124-026-20W
124-026-15W
124-026-35W
124-026-40W
124-026-50
124-026-40
2622-0603
2622-06035
2622-0604
2928-06035
9-060-4
9-060-3-5

Wassell B25 Carburettor 9/28R R/H 928/300
Wassell Mk 1932/300 R/H

Amal Mk | B50 932/18 R/H A34A

Amal Mk 1l 34mm 2934/301

Amal 928/20 Premium Triumph B25 W/SS 1969-72 std
Amal 2624/300 RH 24mm 4 Stroke Mark Il

Amal Monobloc 1 3/16 389/3832

Amal Top (Tank filler cap ) med 2928/064

Amal Top large 2036/064

Amal Mark Il Throttle slide spring 2622/061

Amal Mark Il Needle retaining disc

Amal Throttle Stop/Flange kit

Amal Compatible Service Kit mk1 622/208

Amal Compatible Service Kit mk2 2622/144

Amal 32mm carb gasket

Amal Triumph BSA 30mm carb-Inlet Manifold Gasket
PES Amal Mk | carb spacer 1" Tufnol 65-1419 3mm thick
PES Amal Mk | carb spacer 1 1/16" Tufnol 65-1232 3mm thick
PES Amal Mk I carb spacer 1 11/64" Tufnol 8.3mm thick
PES Amal Mk | carb spacer 30mm Tufnol 70-7821 3mm thick
PES Amal Mk | carb spacer 32mm Tufnol 71-2592 3mm thick
Amal Mk | carb spacer 32mm Tufnol 71-2592 1.75mm thick
Carburettor to air filter connector

Amal Mk1 to PES Bellows Adapter Sleeve

Rubber Stub Adapter (2000 Series)

Amal Rubber Stub Adapter (2900 Series)

AMAL Cable adjuster 4/035 9/035

Amal Lock nut

Amal Main Jet 140

Amal Main Jet 160

Amal Main Jet 400

Amal compatible Main Jet 340

Amal Main Jet 260

Amal Main Jet 220

Amal Main Jet 350

Amal compatible Main Jet 290

Amal compatible Main Jet 300

Amal compatible Main Jet 310

Amal compatible Main Jet 360

Amal Main Jet 420

Amal Main Jet 430

Amal Main Jet 440

Amal Main Jet 450

Amal Main Jet 650

Mark Il Needle jet 106 4 stroke

Mark | needle jet 107 2 stroke

Mark | Amal Needle jet size 125

Amal Needle Jet 622/122-105 4 stroke

Mark Il Needle jet size 105 4 stroke

Mark Il Needle jet size 108

Amal Pilot Jet 124/026-25

9 series Pilot Jet 124/026-25

9 series Pilot Jet 124/026-20

9 series Pilot Jet 124/026-15

9 series Pilot Jet 124/026-35

9 series Pilot Jet 124/026-40

Amal Pilot Jet 124/026-50

Amal Pilot Jet 124/026-40

Amal slide 2622/0603 3 cutaway

Amal slide 2622/0603 3.5 cutaway

Amal slide 2622/0603 4 cutaway

Amal slide 2928/06035 3.5 cutaway
Chrome/brass throttle slide 4 cutaway 9 series

Amal Compatible Brass/Chrome throttle slide 3.5 cutaway 9 series

96.00
96.00
110.00
127.00
117.00
160.00
200.00
6.00
9.00
2.50
1.25
6.00
5.00
5.00
1.00
1.00
6.00
6.00
10.00
6.00
6.00
6.00
1.00
10.00
6.50
6.00
1.50
1.00
3.50
3.50
3.50
3.50
3.50
3.50
3.50
3.50
3.50
3.50
3.50
3.50
3.50
3.50
3.50
3.50
3.00
3.00
6.00
6.00
3.00
3.00
3.00
3.00
3.00
3.00
3.00
3.00
3.00
3.00
20.00
20.00
20.00
20.00
13.00
13.00

each
each
each
each
each
each
each
each
each
each
each
each
set

set

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



9-060-3
376-0604
2036-0603
622-131
622-129
928-062
622-124
928-071
622-197
622-069
622-196
622-086
622-171
376-097
3-419
14-175
622-082
6-101
4-137A
622-168
622-169

~

FTE
H31
FTA
83-2800
73066N
H32
83-2801
73084
73082
FTS
FTSN

CAP2T
83-5201B
83-5201
66-8351
monza sp
monza

~

PHBE30HS
PHBE32HS
PHBE34BD
PHBE36HS
PHBE38GD
PHBE
11815
9309
8550
8530 K4
8530 K7
8540
6413
1486
12995
13086
7746
8649
1481
10295
904236

Amal Compatible Brass/Chrome throttle slide 3 cutaway 9 series 13.00
Amal throttle slide monobloc 376 4 Cutaway 21.00
Amal Throttle slide 2036/060 No. 3 cutaway 24.00
Amal Mark 1, 6 and 9 series throttle slide spring 622/131 6/131 1.00
Amal choke valve spring mark | 1.00
Choke slide Mark | Amal 3.00
Amal Throttle Needle 4 stroke 622/124 4.00
928/071 Carb Gauze Sleeve 7.00
Amal Float Needle Valve Viton Tip 622/197 4.00
Amal adjustable float 622/069 4.50
Amal 2 stroke Deep Float 622/196 8.00
6 and 9 series carb mixing chamber screw 6/086 622/086 0.60
Float chamber screw and washer set 7.00
Amal Banjo single 4.00
Amal Double banjo 3.00
Banjo washer 1.00
Amal o-ring 2.9 x 1.78 nitrile 1.00
Amal Flange o ring 1.00
4/137A Plug Screw 1.50
pilot air screw extended 622/168 3.00
Long throttle screw 4.00
Fuel Taps

1/4" fuel tap Elbow 7.00
Fuel tap washer 83-0002 1.00
Fuel tap adaptor 1/4 to 3/8 5.50
Fuel Tap 1/4 x 1/4 83-2800 10.50
Fuel Tap 1/4 x 1/4" Brass/Nickel Teflon Seal 22.00
Fuel tap BAP 60-7266 8.00
Fuel tap 83-2801 10.50
Fuel tap 1/4 x 1/4 round nickel plated 20.00
Fuel tap 1/8 x 7/16 round nickel plated 20.00
Fuel Tap Spigot and nut 3.50
Fuel Tap Spigot Nut 1.50
Fuel filter glass 8.00
13/4" Flush Fit Cap 59.00
Monza flip fuel tank cap 2 1/2" 29.00
Monza flip fuel tank cap 2 " 28.00
BSA M20 Fuel Tank Cap Wing But 2 1/2" 37.00
Monza spring 2.00
Monza cap repair rubber 2.00
6mm Pipe 1 metre black petrol 3.00
Fuel hose per 1metre 5mm bore 1.50
DELLORTO

Dellorto PHBE 30 HS 235.00
Dellorto PHBE 32 HS 315.00
Dellorto PHBE 34 BD 260.00
Dellorto PHBE 36HS Carburettor 295.00
Dellorto PHBE 38 GD 160.00
Dellorto PHBE to PES Sleeve 5.00
Dellorto Throttle slide 55.00
Dellorto Throttle slide 40 50 60 70 55.00
Dellorto Slide Spring 0.7kg/70mm 4.00
Dellorto K4 Needle 12.00
Dellorto K7 Needle 14.00
Dellorto Atomiser 14.00
Dellorto Main jets 7.00
Dellorto Pilot jet 5.00
Dellorto Pilot jet VHSB 7.00
Dellorto Pilot Jet em. VHSB 7.00
Dellorto Choke jet 6.50
Dellorto Needle Valve 15.00
Dellorto Cable adjuster 3.00
Dellorto PHBE 34 Bellmouth 33.00
Dellorto Bellmouth Allen Screw 2.00

each
each
each
each
each
each
each
each
each
each
each
each
set

each
each
each
each
each
each
each
each

each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



1692
11879
10335
6173
6273

7673

4670

4650

7540
7450380
7450180
8294

8293
PHFRUBBER

05-RB1 KIT

~

10878
57-030
58-7844
57-034
57-033
57-003
57-003A
57-031
57-001
57-041
57-056
57-018
57-063
57-051
57-851
57-805
16-1071
57-019

57-072

75-5099
97-4001
97-4002

~

H63P

H62
60-2601
82-6866
90638
AIRFILTER
7001
7002
157500
152504
MD113
152501
152503
152507
156058P
MD135
MD136
15-8176
158107

Dellorto Adjuster locknut

Dellorto 70 deg. Cable elbow

Dellorto 10335 large o ring

Dellorto O ring

Dellorto Banjo

Dellorto Double banjo

Dellorto throttle stop screw PHF etc
Dellorto throttle stop screw spring PHF etc
Dellorto throttle stop screw washer PHF etc
Dellorto throttle stop screw o ring PHF etc
dellorto 7450.3.80 float 7.5g black
dellorto 7450.1.80 float 8.5g white
Dellorto Choke lever assembly short
Dellorto Choke lever

Dellorto PHBE/PHF carb manifold rubber
Rubber Carb boot

Rubber Carb boot kit

Rubber Carb Boot

Fork Seals

Fork Seal 30x40.5x10.5

Fork seal 34x46x10.5 pair

Fork seal 35x47x7 each

35X47X10.5 Fork oil seals pr

Fork seal 35x48x10.5 pr

Athena Fork seal 35x48x10.5 pr
35x48x11 fork sea

35x48x9.5 Fork Seals

Athena Fork Seal 38x50x10.5 pair

Fork Seals 38x52x11

Fork Seals 40x50x7/10.5

Fork Seals 40x52x10.7

Fork Seal 41.7x55x10

Fork Seals 43x55x10.5

Fork seal & dust seal set 45x58x11 KTM Husqvarna
Fork seal kit 46x58x9.5/10mm

Fork seal 47.5x58x8.5/10

Fork seals 48x58x9.5/10.3

Fork Dust Boots Pair KX80 86-87

Marzocchi fork scraper 35mm

35mm Wiper seal

Triumph/BSA fork seal 97-1500 75-5099 pr
BSA/Triumph fork seal B25 OIF B50 T100 T250 TR25W TR5T T120 T140 T150/160
BSA/Triumph Fork Boot (pr)

Filters

PES KTM Plastic air filter cage H63P Finna

PES KTM Steel air filter cage H63

PES KTM Air Filter H62

Air Filter Elem BSA single B25,B50 (1971-) Triumph single T25 etc (1971-)
Air filter gauze element 82-6866

Triumph T120 (1968-70) and BSA A65 Domed Air Filter Back plate.
Universal Air Filter sheet

Wasp Air Filter 7001

Wasp Air Filter 7002

Twin Air Wasp EML 500 Air Filter

Twin Air Filter with 63mm rubber Yamaha

Husky 4 stroke air filter 92-02

Yamaha Twin Air Filter with rubber 63mm

Twin Air Filter with rubber 57MM XT500 Yamaha
Twin Air Filter with rubber 52MM XT500 Yamaha
Twin Air Filter09-11 outlander 800 can-am
Maico air filter 73-79

Maico air filter 80-81

Vertemati air filter 2002

Twinair filter C25/604 95-01 with rubber 63mm Diameter

0.50
4.00
2.00
0.50
6.00
7.00
3.50
0.75
0.50
0.50
24.00
19.00
15.00
15.00
16.50
5.00
10.00
5.00

3.60
6.00
3.00
6.00
5.00
13.00
8.50
4.00
10.50
4.00
7.00
8.50
10.00
5.00
20.00
30.00
8.00
7.00
13.00
4.00
8.00
5.00
5.00
5.00

10.00
25.00
16.00
19.00

6.00

6.00

6.00
16.00
16.00
14.00
24.00

7.00

25.00
25.25
25.00
41.00

9.00

9.00
13.00
24.00

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
pair
pair
each
pair
pair
pair
pair
pair
pair
pair
pair
pair
pair
pair
pair
pair
pair
pair
pair
pair
pair
pair
pair
pair
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



158200
MD105
06-0673
12-55754
15-700
C30A
C30

06-3371
06-3139
47-310C

19-4589
00-0796

66-8359

82-9430
40-8323
29-7962
60-3745
PES0011
47-106C
12-94200
HF 151
HF 154
HF 155
HF 156
HF 157
HF 181
HF 183
HF 185

MS5SF
21M5MF
M5MF

M5M

M5MR

M5S

MX-3S

MX52
MX52F
MX-3SF
Pirelli MT43 F
Pirelli MT43 R

R16A
WM4
WMm2
R16
R2A
R2
R2B
R2D
R2C
R2E
16IT
R21B
R21C

Twinair filter CZ 65-89

Finna Air Filter Honda CR125 250 500 (89-01) KTM SX 250 (90-97)

Air Filter element for Norton Commando (1969-74).
Emgo 54mm Tapered Air Filter Clamp on
Filter skins std 3 pack 3x5

PES Oil Filter C30a

PES Frame oil filter, up to frame no.79002

PES oil filter, frame after frame no.79002
DRZ/LTZ oil filter

Ducati oil filter

Norton spin-on oil filter

Norton Filter carrier

KXF 250/RMZ250 Oil filter

BSA B25 Qil Filter

AJS/Matchless Single/Twin Oil Filter Element 00-0796
BSA M20 Qil Filter Element 66-8359

Rotax oil filter

BSA Frame filter 82-3179 82-9430 40-8328
BSA Frame Filter Spigot and Nut (Stainless Steel)
Oil tank filter 29-7962 82-9071
PES/Pipercross Breather filter (replaces 60-3745)
Pipercross breather stub

CRF 250/450 oil filter

AMAL Air Filter replaces Triumph Series 900
BMW Air Filter

Husgvarna 800081675 Oil filter

KTM 580 38 005 000 Oil filter

KTM 583 38 045 000 Oil filter

KTM 590 38 046 000 Oil filter

Vertemati oil filter

Piaggio 483727 Qil filter

Apillia 02 04 50 Oil filter

Flo S Steel Reusable Oil Filter 303

Wheels

Low pressure guage

80/100 x 21 Michellin Starcross 5 soft

80/100 21 Starcross 5 Medium Front

90/100 21 Starcross 5 Medium Front

100/100 x 18 Starcross 5 Medium Rear
110/100 x 18 Starcross 5 Medium Rear
100/100 x 18 Michellin Starcross 5 soft
110/100 x 18 Dunlop Geomax MX-3S
100/100-18 Dunlop Geomax MX52
80/100-21 Dunlop Geomax MX52

80/100 x 21 Dunlop Geomax MX-3SF

Pirelli MT 43 Pro Trial 2.75-21 45P DP TL Front
Pirelli MT 43 Pro Trial 4.00-18 64P DP TL Rear
120/90 x 18 6 days extreme

90/90 x 21 6 days extreme

400-18 64P T/L MT43

275- 21 45P T/L MT43

Tyre Clamp 2.15 die cast WM3 rear

Tyre Clamp 2.5" die cast WM4

Tyre Clamp 1.85" WM2

Tyre Clamp 1.6" die cast WM1 front

Heavy Duty Inner Tube 21" 3mm

21" Inner Tube 1.3mm

Pirelli 21" Inner Tube 2mm

Michelin 21" Inner Tube 2.5mm 80/100

21" Ultra Heavy Duty Inner Tube 4mm 21x300
21" Inner Tube

16" Inner Tube

Michelin 18" Inner Tube 2.5mm thick 110/100
18" Ultra Heavy Duty Inner Tube 4mm 18X400/450

11.00
9.00
13.00
7.00
15.00
6.00
15.00
15.00
3.00
5.00
4.00
19.00
2.50
7.00
8.00
12.00
3.00
17.00
10.00
28.00
18.00
3.00
3.00
5.00
4.50
4.50
4.50
6.50
4.50
4.00
5.50
4.50
76.00

3.00
42.00
43.00
45.00
49.00
50.00
50.00
43.00
39.00
36.00
39.00
38.00
56.00
50.00
37.00
49.00
32.00

8.00

8.00

8.00

8.00
14.00

5.00
19.00
16.00
15.00

7.50

5.00
16.00
16.00

each
each
each
each
set

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



R21A

R21

R21D
68-019S
09-1018
08-0183
Rim-tape-21
Rim-Tape-19
Rim-tape-18
J01-4-016-9
Y01-1-021F
Y01-1-021F Y
H73B
H73R

H73

H42B
H42Y
PES-4-001Y
PES-4-001B
40-8657
66-8501
40-8564
60-3752
60-3075
37-3996
37-3997
82227
82002
65-8714
19-9086
60-0868
60-2083
60-3535
66-8569
cbk034
H44BL
H44YE
H44RE
H44B
H44R

Ha44
H44RR
H44Y
HA44A
H103B
H103Y
H131
H43B
H43Y
H43R
H45A

H45
C01-2-004
C01-1-005
C01-1-003
C01-2-003
C01-3-003
C01-4-003
C01-1-009
C01-3-011
HO01-1-001
HO01-1-007
H01-3-003

Heavy Duty Inner Tube 18" 3mm
18" Inner Tube

18" Inner Tube 1.3MM 450/500 TR4
19" x 300/400 TR6 Inner Tube

Foot pump with gauge Heavy Duty
Valve core remover hex 08-0183
Rim tape 21"

Rim Tape 19"

Rim tape 18"

Cables

Jawa Speedway laid down Throttle

Yamaha Front Brake Cable

Yamaha Front Brake Cable yellow

Magura to Amal/Mikuni/Keihin Throttle Cable (Black)
Magura to Amal/Mikuni/Keihin Throttle Cable (Red)
Magura to Amal/Mikuni/Keihin Throttle Cable (Yellow)
GP Gasser to Amal/Mikuni/Keihin Throttle Cable (Black)
GP Gasser to Amal/Mikuni/Keihin Throttle Cable (Yellow)
PES Dellorto to Gasser/314 throttle cable (yellow)

PES Dellorto to Gasser/314 throttle cable (black)

BSA B25/SS/T Tri Trophy Throttle Cable 40-8657 60-0962
BSA M20 Exhaust Lifter Cable 66-8501

BSA C15 B40 Decompressor Cable

B50 Decompressor Cable 60-3752 Doherty

BSA Triumph Conical Front Brake Cable 1971 60-3075 60-3557 Doherty 42"

BSA front brake cable bush 1971 37-3996
BSA front brake cable bush 1971 37-3997
BSA Tacho Cable 2'7" long
BSA Tacho Cable 2' 9" long

BSA AMC Standard Touring Models 1946-62 Magneto Cable 39" A2/256
B44 Victor Enduro Triumph Magnetic Speedo Cable 5'6" 60-0609 60-3249 19-9086 19-9098

BSA A65L 1968 Front Brake Cable Twin Leading Shoe
BSA B44 B50 etc Doherty Clutch Cable 60-2083

BSA B50MX Front Brake Cable 71-73

BSA M20WD Clutch Cable 66-8569/8570

universal throttle cable 54" std

PES Front Brake Cable upto 76 (100mm shorter) black
PES Front Brake Cable upto 76 (100mm shorter)yellow
PES Front Brake Cable upto 76 (100mm shorter)red
PES BSA B50MX Front Brake Cable upto 76 Black

PES BSA B50 MX Front Brake Cable upto 76 Red

PES BSA B50 MX Front Brake Cable upto 76 Yellow
PES Front Brake Cable 77-78 Red

PES Front Brake Cable 77-78 Yellow

PES Front Brake Cable 77-78 Black

PES Front Brake Cable 79 (Black)

PES Front Brake Cable 79 (Yellow)

PES Front Brake Cable 80-81 black

PES BSA B50 MX Featherlight Clutch Cable (black)

PES BSA B50 Featherlight Clutch Cable (yellow)

PES BSA B50 Featherlight Clutch Cable (Red)

PES BSA B50 B44 Rear Brake Cables upto 79 555mm length
PES Rear Brake Cables 79W 80-81 C01-2-001

PES Rear Brake Cable 79 Hiro JBR

PES Armstrong Hiro Front Brake Cable

PES Trials B40 Front brake cable

PES Trials B40 Rear brake cable

PES Trials Clutch cable (Grey)

PES Trials Throttle cable (Grey)

PES CMX Front Brake cable Black

PES CMX 500 ACM 560 CAN-AM 560 Clutch Cable Black
Husqvarna Front Brake Cable

Husqvarna Front Brake Cable 79-84

Husqvarna Clutch Cable BLACK

21.00
7.50
9.00
7.50

10.00
3.50
1.70
1.70
1.70

6.00
17.50
19.00
12.00
12.00
12.00
13.50
13.50
12.00
12.00

7.00
22.00

8.00
14.00
35.00

2.00

2.00
14.00

8.00
10.00
10.00

8.00
19.00

8.00
22.00

5.00
16.00
16.00
16.00
17.50
16.00
16.00
16.00
16.00
16.00
17.00
16.00
17.00
17.50
17.50
17.50
13.00
16.00
16.00
16.00
16.00
17.50
16.00
14.00
15.00
15.00
18.00
17.00
16.00

each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



HO01-3-002
HO01-3-010F
HO01-4-016BLK
HO01-4-005
HO01-4-013
HO01-4-017
HO01-6-001
MO01-1-005F
MO01-6-002F
MO01-3-004F
MO01-3-002F
M01-1-002
M01-4-002
K01-1-003
C04-1-001
C04-1-002
C04-1-003
C04-3-001
C04-3-002
C04-4-001
C04-4-003
C04-4-002
H02-3-007

~

57-4306-13
57-4306
41-3094
41-3092
41-3092A
40-3123
41-3092B
57-4306-11
24-4280
65-2538
67-1132
41-6092
QDS57T
QDS58T
CON60T
CONS59T
CONS58T
37-3992
37-3741
KTM 58T
TR380-66T
R41

R40S

R38

R38S
R42G
R42S
R37G

R37

R36

R35
121-60T
R38G
121-56T
TR39
121-54T
TR125-52T
TG321 13T
321
TG321

Husqvarna Clutch Cable BLACK

Husqvarna TE/TC Clutch Cable 84-91

Husqvarna 4 Stroke Throttle Cable 84-86

Husqvarna Throttle Cable BLACK

Husqvarna MX500 82-88 Throttle Cable

Husqvarna 4 Stroke Throttle Cable 87-98

Husqvarna TE/TC Decompressor Cable86-94

Maico Front Brake Cable 80-84

Maico Decompressor Cable

Maico Clutch Cable 80 - 82

Maico Clutch Cable 73-79

Maico Front Brake Cable 73-79

Maico Throttle Cable 73-82

KTM Front Brake Cable 78

CZ Front Brake cable black 250/360 M/X 1964-66,250/380 67-70,250/400 71-74
CZ Front Brake cable black 250/400 M/X 1975-76

CZ Front Brake cable black 250/400 M/X 1977-on

CZ Featherlight Clutch cable black 64-66

CZ Featherlight Clutch cable black 250/380/400 single port mx
CZ Featherlight Throttle cable black 67-70

CZ Featherlight Throttle cable black mx mikuni

CZ Featherlight Throttle cable black 71 on jikov carb t/grip
Honda/JBR Clutch Cable

Sprockets

BSA B50 B44 13 Tooth Front Sprocket

BSA B50 B44 14 Tooth Front Sprocket

BSA B50 B44 15 Tooth Front Sprocket

BSA B50 B44 17 Tooth Front Sprocket

BSA B50 B44 18 Tooth Front Sprocket

BSA C15 B40 B44 19T Front Sprocket 428 chain

BSA B50 B44 19 Tooth Front Sprocket

11 Tooth Front Sprocket PES Trials

BSA M20 WD 18 Tooth Gearbox Sprocket 24-4280

BSA B31 B32 B33 B34 A7 A10 Engine Sprocket 20T 2-Lobe 65-2538
BSA A7 A10 B31 B33 Engine 18T Sprocket 2-Lobe 67-1132

PES BSA B25 B44 Rear Sprocket 47T 10 bolt 41-6092 aluminium
PES BSA 10 bolt Grooved Sprocket 57T Silver Quick Detach Hub QD S 57T
PES BSA 10 bolt Grooved Sprocket 58T Silver Quick Detach Hub QD S 58T
PES BSA conical hub 5 bolt 60T Aluminium Sprocket

PES BSA conical hub 5 bolt 59T Aluminium Sprocket

PES BSA conical hub 5 bolt 58T Aluminium Sprocket

PES BSA Conical Hub 5 Bolt Steel 47T Sprocket SS H

PES BSA Conical Hub 5 Bolt Steel 52T Sprocket MX T

PES KTM Rear Drum Brake Rear Sprocket 58T 8 bolt silver

PES Rear Sprocket 66 Tooth Grooved (silver)

PES Rear Sprocket 60 Tooth Round holes Grooved (silver)

PES Rear Sprocket 59 Tooth Round holes Grooved (silver)

PES Rear Sprocket 58 Tooth Ultra Light Grooved Gold

PES Rear Sprocket 58 Tooth Round holes Grooved (silver)

PES Rear Sprocket 57 Tooth Ultra Light Grooved (gold)

PES Rear Sprocket 57 Tooth Round holes Grooved (silver)

PES Rear Sprocket 56 Tooth Ultra Light Grooved Gold

PES Rear Sprocket 56 Tooth Round holes Grooved Silver

PES Rear Sprocket 54 Tooth Ultra Light Grooved Gold

PES Rear Sprocket 52 Tooth Round holes Grooved Silver

PES Rear Sprocket 60 Tooth Round holes Grooved Grimeca silver
PES Rear Sprocket 58 Tooth Round holes Grooved Grimeca silver
PES Rear Sprocket 56 Tooth Round holes Grooved Grimeca silver
PES Trials Rear Sprocket 46 Teeth

Talon Grimeca Rear Sprocket 54 Tooth Grooved Silver
Husqvarna 125-510 1976-1988 Sprocket 52 Ultralight Grooved Gold
Husqvarna 13 Tooth Grooved Front Sprocket

Husqvarna 14 Tooth Grooved Front Sprocket

Husqvarna 15 Tooth Grooved Front Sprocket

16.00
15.00
11.00
12.00
10.00
11.00

6.00
17.00
11.00
15.00
15.00
15.00
12.50
17.00
18.00
18.00
18.00
18.00
18.00
12.00
12.00
12.00
15.00

45.00
28.00
28.00
28.00
35.00
30.00
28.00
18.00
35.00
53.00
30.00
45.00
60.00
60.00
60.00
60.00
60.00
45.00
45.00
60.00
30.00
60.00
60.00
60.00
60.00
60.00
60.00
60.00
60.00
60.00
60.00
60.00
60.00
60.00
60.00
55.00
25.00

9.00

7.00

7.00

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



TG338
MA 54T
MA-125-58T
TR352-56T
TG327 14T
TG327 13T
TG332
TR112-49T
TG539 14T
TR113-48T
TG400
TR375-39T
30-831-116
30-851
92221E
30-053
R24

R24L
92019R
30-950
30-941
KTM SX

17024
2454-280
11-795
2457 280
11-7958B
11-7918B
30-925
30-931
30-929
30-940
30-906
C66
45-764BE

~

H34L
427912
H34R
427814
H68
HE68A
83023
P312
P311
83018
83017

H27A
H27
12-033

12-060C

M3309
M6902A
600AD
83211
83210
83126
83125
H89
H35

Husqvarna Front Sprocket 12T 610

PES Maico 6 hole 54 Tooth Rear Sprocket Gold
PES Maico 125 58 Tooth Rear Sprocket
Maico Sprocket 56 Ultra light grooved gold
Maico 14 Tooth Front Sprocket

Maico 13 Tooth Front Sprocket

Suzuki RM125 Front Sprocket 12T 1980>
Suzuki RM125 250 450 Rear Sprocket 49T 1980 onwards Gold
Vertemati Front Sprocket 14T

Vertemati Rear Sprocket 48T gold

Ducati Monster 15T

Ducati Monster 39T Sprocket

DID 520VT2 X-Ring Chain 116L

DID 520DZ 120L trial chain

Elite Chain 5/8" x 1/4" 110 link

WRP 520 O-ring

Regina 520 RX3 x 118 Professional Chain
Regina 520 RX3 x 118 Professional chain link
Regina Cranked link 30/135Resr
Flanged chain roller

Chain roller 38mm blue

KTM Chain guide sx/sx-f polisport

Complete Guide 93-98 YZ125/25

Chain tensioner pad universal angled black
Universal Chain Guide Neutral
Universal Chain Tensioner Kit

Plain roller White 31x25mm

Chain block (Ariete) H/D Replacement pad for 11-795
Chain block (Ariete) H/D

Chain Roller 38mm white

Chain roller 32mm (Blue)

Chain roller 32mm (black)

Chain roller 38mm

chain roller 42mm

Chain block KX/KDX 89-98

Chain Block XR250/600 86-95

Handlebar Fittings

Magura Clutch Lever assy.

Magura clutch blade

Magura Front Brake Lever assy.

Magura front brake blade

Magura Dust Protector

Fabric PES lever covers Pr.

Clutch/Brake Levers - UNIVERSAL

Combination Front Brake Short Air Lever 7/8" Plain Blade
Combination Clutch Short Magneto Lever 7/8" Plain Blade
Doherty Replica Steel brake lever

Doherty Replica Steel clutch lever

Twist Grip Amal Trails T80

Gasser Twist Grip Silver H27

Gasser Twist Grip Black H27

Throttle Vortex Universal + rubber cover
Magura 314 Twist Grip

Magura 314 Twist Grip copy

Venhill 312 Twist Grip

Rubber Protection Boot Hose

Venhill 600A neoprene tapered boot I/D 10 & 4.5mm
Venhill 312 Twist Grip Cable Adjuster for PES cables
Domino throttle assembly 90d cab exit slow action 0670.03-01
Domino throttle assembly 90d cab exit quick action
Emgo Twist Grip 7/8 " f/action Chrome Effect

Emgo Twist Grip 7/8" f/action 90d Black

Magura Cable Adjusters 7.25mm

Magura Cable Adjusters 6.5mm

7.00
45.00
40.00
32.00
10.00
10.00

6.00
30.00

7.00
22.00
12.00
27.00
67.00
45.00
14.00
40.00
67.00

3.00

3.50
14.00

5.75
13.00
13.00

5.00
11.00
12.00

4.20

7.50

7.50

4.00

6.00

6.00

5.00

6.50

9.00
14.00

46.00
22.00
50.00
25.00

5.00
12.00
32.00
49.00
49.00

9.50

9.50
19.00
11.50
11.50
20.00
25.00
13.00
50.00

1.00

1.50

3.30
16.00
16.00
10.00
10.00

4.00

4.00

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
pair

pair

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



720501
13-792F
13-847F
13-914v
Grip Glue
48-045
24843
12-4201BG
12-4202BK
1821-001
22-597
H28
GFBLACK
12-395BK
12-397BE
97-4112-3
97-4112
48-768S
48-816S
48-722S
48-613S
H29
H29A
13-970L
13-970S
13-645F
13-810

~

R40-1
R4-4
2248-7009
1576-7176
MTX

MX5 2ST
MC5

GF40
GF20-50
MFO-10
MFO-15
MFO-20
CFO 0-5
PFO 2-5
MDD500
LSFOO1
MPC001
MDOT4
API GL5
AF2000

FFO001
MFFC
TTS

5900

K99
1645-7318
Cs

ANT20
MAR D 025
PUR 025
LYD 025

Magura Hymec clutch lever std.

Magura Hymec clutch lever std. Copy

KTM SX 200/250/450 2003 Blade set

Magura Decompressor Lever

Pro Grip Glue 75ml spray

Renthal Dual layer grips grey/black

pro taper single density full diamond grips medium dark grey
Domino Grips Black/Grey

Domino Grips Black

UFO Escape Grips Grey/Black

scott mx deuce grips blue/grey

Scott MX2 grips grey/black

Raceline grips black

Grips black full waffle

Progrip Soft Touch Cross Black/Blue

Handlebar Clip Chrome Plated 97-4112/3
Handlebar Clip 97-4112

Renthal Bars Trials 6" Rise + pad silver

Renthal Bars CRF150 Adult Bar + pad silver
Renthal Bars Honda high + pad silver

Renthal Bars Enduro high+pad silver

Renthal Bars enduro med + pad silver 664-04-SI
Renthal Bars desert high + pad 48-666S
Universal die cast clutch lever assembly Long
Universal die cast clutch lever assembly Short
Universal forged clutch lever assembly

CR type forged clutch lever bracket

Oils

Castrol R40 1 litre

R4 4litre

Power 1 GPS 10/30 4 Litre

GPS 1litre

MTX Synthetic Gear Oil 80w

Putoline MXS5 2 Stroke Oil 1 litre

Morris Castor Oil 5 litre Race C40 MC5

Morris Castor Oil R30 1 litre

Morris Golden Film SAE 40 Classic Motor Oil 5 litre
Morris Golden Film 20W-50 Classic Motor oil 5 litre
Morris Fork oil 10w 11

Morris Fork Oil 15w1l

Morris Fork Oil 20w 11

Castrol Fork Oil 5W 0.5L

Putoline HPX Fork Oil 2.5W 1L

Morris Morenda DD Diesel Fuel Additive 500ml
Morris Lodexol FS 75W-90 Gearbox + Differential Oil 1 litre
Morris Multitrans MPC 1 litre (ATF)

Morris Dot 4 Universal brake & clutch fluid 1 litre
Morris Gear and Differential Oil API GL5

Morris Airforce 2000 ISO VG 150 Rotary Hydrovane Compressor Qil 5 Litre
ATF Dex Il

Morris Foam Filter Oil 1 litre

Morris Foam Filter Cleaner 5 litre

TTS

Castrol CL Grease

Castrol Red Rubber Grease

Morris K99 Water Resistant Grease 500g
Castrol Moly Grease

Castrol Chain Spray

Morris Multivis ADT C4 5w-30 25litre

Morris 20 Ltr MEG Antifreeze & Coolant

Morris Marcia D Gearcutting oil 25 litre

Morris Purolene 25 litre

Morris Lydian Degreaser Fluid 25 litre

Morris Ultralife Red Antifreeze 5 Litre

23.00
8.00
14.00
10.00
5.00
10.00
8.00
18.00
9.00
9.00
15.00
15.00
5.00
4.00
12.00
4.50
2.50
41.00
44.00
41.00
44.00
58.00
44.00
7.00
7.00
18.00
6.00

15.00
24.00
14.50
6.20
14.00
12.00
45.00
8.00
21.00
22.00
8.50
8.50
8.50
5.50
9.50
8.00
12.00
7.50
7.00
10.00
24.50

11.00
26.00
14.00
10.00
5.00
4.00
5.00
8.50

115.00

58.00

113.00

84.00

115.00

14.00

each
each
each
each
each
pair
pair
pair
pair
pair
pair
pair
pair
pair
pair
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



MDF400
SEMO005
KDOO005
CADOO05
MOMOO05
SUE025
RVS025
SOL400

TRF25
SAP

373

3M DUCT
PET
METH

~

00-270BK
00-272

PIT MAT
66-107
20-112
21-109
21-103-C
21-103
22-315
RNR OAK O
TVS23
MD15ST
MD12ST
Arai MX-V Int
Arai MX-V
Arai MX-V XXL
Oak Lens
24-2441
Oakley
OakleyC
Oakleyl
Smith
Progrip
Scot
93-752BK
2037

~

JBR2
41-4605
H503
H500A
H500R
H500
H501
H501A
H502
68-9224
60-1006
60-3632
60-0985
68-9115
68-9223
B31
B31L
B20L
B20
B20S
66-6740

Morris Workshop Pro Maintenance Spray MD4 400ml
Morris Workshop Pro All Seasons Screenwash 5 Litre
Morris Superclean KD150 System Cleaner 5 litre
Morris Pro Traffic Film Remover 5 litre

Morris Workshop Pro Premium Hand Cleanser 5|
Morris Supercut 8000 coolant 25|

Morris Versimax HD4 15W-40 25Litre

Morris Workshop Pro Solvent Chain Cleaner 400ml
Morris Astra 68 Slideway Oil 25L

Morris Triad 46 25L

Solvol Autosol polish
Granville Black Silicon Sealant 40g

3M Duct Tape

Sunoco Race Fuel 115 Octane 25 Litres

methanol 25|

Goggles

Tie Downs 1" x 6ft 500kg black

Ratchet tie downs Pr.

Apico Racing Pit Mat 250cmx110cm

CHAIN + PADLOCK 1.2METRE X 12mm

Roll of film Goggles

Oakley Crowbar Goggles Black

Oakley O Frame Goggles Carbon

O Frame Oakley Goggles Matt Black

Scott roll off pull side

Rip N Roll Oakley 2000/0 frame Total vision system
Rip N Roll Oakley Crowbar Total vision system
Scott lenses drilled for roll off anti scratch
Scott lenses anti scratch

Arai Spare Interior MX-V 10 mm (STD M)

Arai Spare Cheekpads 30mm thick MX-V

Arai Spare Cheekpads XXL 15mm thick MX-V
Oakley Lens Clear O frame/2000

Oakley Lens Persimmon O frame/2000
Oakley Lexan Lens Clear (Genuine) O frame/2000
Oakley Crowbar Tear Offs 10 pack

Oakley 2000 / O frame Tear Offs 10 PACK
Smith Speed 10 Tear Offs

Progrip 10 Tear off

Scott 10 Tear off

Axo Knee pads

Elbow pads

Plastics

JBR Airbox (PES)

B44 Victor side panels (pr) Black 41-4605 41-4606 (PES)
PES 73 air box, uprated (PES) yellow

PES side panels pr. (PES) white/black

PES 73 side panels pr. (PES) red

PES 73 side panels pr. (PES) yellow

PES 73 front mudguard (PES) yellow

PES front mudguard (PES) white

PES 73 Rear Mudguard (PES) yellow

BSA A65 Oddie Stud Long 68-9224

BSA A65 Oddie Stud 1 1/4" Long 60-1006

BSA Oddie stud 60-3632

BSA Oddie rubber thin 60-0985

BSA Oddie stud clip 68-9115

BSA Oddie stud short - 60-0982 68-9223

PES 73-77 side panel screw (316) (PES)

Pan head screw long (316) (PES)

PES Hook Bolt Airbox under seat

PES Hook Bolt Airbox/mudguard

PES Hook Bolt Airbox

BSA B31 B33 B34 M20 M21 Rear Mudguard Bolt 66-6740

4.00
21.00
55.00
13.00
20.00

180.00
90.00
7.00
100.00
56.00

5.00

3.50

5.00

114.00
70.00

10.00
11.00
70.00
39.00
1.50
50.00
32.00
32.00
12.00
23.00
23.00
3.10
3.10
35.00
35.00
35.00
8.00
8.00
8.00
2.50
2.50
2.50
2.50
2.50
24.00
15.00

125.00
100.00
120.00
90.00
90.00
90.00
90.00
90.00
90.00
6.00
6.00
6.00
1.00
2.00
4.50
4.00
5.00
6.00
6.00
6.00
4.50

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
pair

pair

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
pair

each
pair

pair

pair

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



H97L-97R-99
H99

H67
H129
H127
H146
H145
H128
2800 046
2805 045
2801 046
2904 001
EB2

EB1
06-404
34-100
34-032
34-028
H20
H20A
H208B
72-1164
SPRING HOOK
97-4072
35001

H98B
H98G
H98W
H98

HI98R
75-400 RD
75-405 RD
1109 041
1109 101
1109 061
1109 001

KT03074 001
KT03075 001
2600 041
2600 001
1013101
1013 041
1013 061
8055W
2466-001
8009W
8000K
8000W
8000D
8004W
8001K
H87
8020K
8020D
8021W
8020W
8024W
8030D2
8030W
H50
8033W
8023D

PES 78 Panels/number plates (set 3 Castrol)
PES 78 Front Number Plate

PES 75-78 air box, uprated

PES 79 Airbox

PES 79 side panels Pr.(long)

PES 80-81 Airbox

PES 80-81 JBR side panels pr.(short)

PES 80-81 Front Number Plate

UFO Front Yamaha 125/250/360/490 87-91 YZ 91-2012 White

Front no plate white

UFO Rear Yamaha 125/250/360/490 87-90 White

front fender black
Exhaust Bung large
Exhaust Bung small

Universal 1 1/4" Spark Arrestor Exhaust Silencer

Exhaust packing

silencer core 30x400mm

Silencer core 25x400mm

Exhaust springs 53mm

Exhaust springs 71mm

Exhaust springs 87mm

exhaust spring puller

Spring Hook

BSA B50 MX Stainless Front Mudguard
Universal Mudguard 4" Front Alloy 19"
5" alloy rear mudguard

Oval Number Board Black

Oval Number Board Green

Oval Number Board White

Oval Number Board Yellow

Oval Number Board Red

Trials Front Red

Trials Rear Red

Rear uni white mudguard

Rear uni yellow mudguard

Rear Uni Red Mudguard

Rear uni black mudguard

Enduro white

KTM Front Black

KTM Front No plate Black

Uni front white

Uni front black

Uni front yellow

Uni front white

Uni front red

Hand Guards
Universal Cable guide black

Uni front guard white (Vintage) Preston Villa
Uni front guard black (Vintage)

Uni front guard white (Vintage)

Uni front guard yellow (Vintage)

Uni front guard white (Vintage)

Uni front guard black Vintage

Uni front guard white Vintage PES 75-78
Uni Rear Guard Black Vintage

Uni Rear Guard Yellow Vintage

Uni Rear Guard White Vintage

Uni Rear Guard White Vintage

Uni Rear Guard White

Uni Rear Guard Yellow Vintage

Uni Rear Guard White Vintage

Uni Rear Guard White PES 75- 78

Uni Rear Mudguard Gilera 80-81 White
Uni Rear Guard yellow

120.00
50.00
125.00
125.00
90.00
125.00
90.00
50.00
23.00
19.00
27.00
15.00
4.00
3.50
80.00
5.00
11.00
13.00
1.30
1.50
1.50
4.00
5.00
110.00
50.00
50.00
5.00
5.00
5.00
5.00
5.00
14.00
14.00
16.00
14.00
16.00
14.00
23.00
20.00
20.00
17.00
13.00
16.00
17.00
16.00
19.00
4.00
28.00
24.00
26.00
24.00
24.00
26.00
28.00
21.00
24.00
24.00
25.00
26.00
29.00
29.00
28.00
31.00
28.00

set
each
each
each
pair
each
pair
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
pair
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



1979

1980

2001
1951-081
NOS BLACK
NOS WHITE
Yellow Back

~

CRXRKILL
YZITTTKILL
25052
MDKB-1075
MDKB-1047
kill lanyard

LU54531899
19-0916
MT211-53056
99-7039
HF1234
99-9976
31563
31482A
54C
44-011
MT110
1450
LBOSEMH
SDO5FM
16001
16003
16000
B6HS
CR8E
CROEK
CROEIX
CR8EK
CRS8EIX
BP8ES
BP7ES
B8HS
BIEG
BRIEIX
BR8EIX
DRS8EIX
BR8HIX
D7EA
JROC
9226L
PU7D
463066
458876
LUOO3
LU185015
LU410600
455191
451260
BA Spanner
200738
LU200895
LU200227
LU200732
DYN-424
LU200224

Oil Measuring Jug 50cl
Oil Measuring Jug 25cl
Fork Seal Saver

Plastic bike stand
Numbers 6" ea black
Numbers 6" ea white
Background PES Yellow

Electrics

Honda Kill switch

Yamabha Kill switch

Suzuki Kill switch

MDR Tether Lanyard Kill Switch Bolt On

MDR Tether Lanyard Kill Switch Clamp On

Tether Lanyard kill switch (normally open)

Univ. Rear Stop Switch

Lucas ignition switch LU54531899/30552

BSA Triumph Lucas stop switch replaces LU 34815 99-1028, 60-0990
BSA REAR LAMP - Lucas LU53056,53090,53140,MT211
7" Headlamp Shell Lucas Copy Emgo

12V Altette Horn with CorrugatedbDisc HF1234
Speedo Drive 2:1 3/4" hole 99-9976 19-9205 BSA AJS/Matchless Norton Triumph
Horn/Dip Switch for 7/8" handlebars 31563 LU31563
Lucas Dip Switch Diamond Lever 31482A

Lucas 54C Brake Light Switch 31281B LU31281B 19-1106
Control Switch light/horn with wires

Rear Lamp MT110

BSA M20WD Main Wiring Harness

Plug cap NGK elbow red

Plug cap NGK straight red

Plug Cap rubber black

Plug cap rubber red

Plug cap + HT lead 26" black

B6HS NGK Spark Plug M20 M21

CRS8E Spark Plug

CRIEK

CRIEIX

CR8EK

CR8EIX 10mm NGK Spark Plug B50 4V

BP8ES Spark Plug

BP7ES Spark Plug

B8HS Short Reach Spark Plug

NGK B9EG Racing Spark Plug

BROEIX

BR8EIX Spark Plug

DR8EIX racing plug

BR8HIX Spark Plug

D7EA

JROC

Lucas Battery 6V 4aH Gel Sealed

Lucas rubber battery box PU7D

BSA Triumph Norton Screw on HT Pickup for Lucas K2F/K1F K2FC Magnetos
BSA Triumph Lucas Screw On HT Pickup Mag Dyno 458876 Left or Right MO1L KN1
Lucas MO1 Pick up Screw (pair)

Lucas HT Lead Washers (each) use with LU410600
Lucas Pick Up Top (each) use with LU185015

Lucas Magneto Earth Brush (pack of 5)

Lucas Magneto Pick Up Brush (pack of 5)

Set of Magneto Spanners (8) BA

Dynamo Brush Plate

Lucas Generator Rubber

Lucas E3 Short Dynamo Through Bolt with Nut

Lucas E3L Long Dynamo Through Bolt with Nut

Lucas Dynamo Field Coil Countersunk Screw

Lucas Dynamo Bearing Retaining Nut Drive End

4.00
4.00
8.50
37.00
0.25
0.25
3.00

7.00
8.00
8.00
10.00
10.00
9.00
4.50
29.00
7.00
13.00
32.00
96.00
45.00
16.00
19.50
25.50
10.00
16.00
46.00
6.00
6.00
1.50
1.50
5.00
3.00
7.00
9.50
9.50
7.00
13.00
3.00
3.00
3.00
4.50
13.00
12.00
8.50
9.00
3.00
10.00
13.00
27.50
7.00
7.00
3.50
0.75
2.75
11.50
11.50
12.00
6.00
2.50
4.00
4.00
2.50
4.00

each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
pair
each
each
set
set
set
each
each
each
each
each
each



LU188818
LU460052
460061
LU458731
24-0195
24-0195L
19-1685
484098
19-1849

~

H144

H5A
H5

H16
H16C

PI1
PI2
PI3
PI4
H2
H2A
H28B
H3A
Ha
H3
E69
E68B
E68A
E68

H216-7537
H733-5476

97-2237
LU47252
LU47244
48-98651
SPR120W
TPR200W
TPR 200W

Dynamo Split Bullet Connectors (pack of 6)

Lucas Mag/Dyno Tab Washers (pack of 10)

Mag/Dyno Points Cover Chrome Plated 460061

Lucas Magneto Advance Cable Grommet

BSA Mag Dyno Nut (Short) for BSA B M Group 24-0195

BSA Mag Dyno Drive Pinion Nut (Long) A7 A10 B31 B32 B33 B34 M20 M21 24-0195
BSA points 4CA Unit singles, A65, T20 Lucas Contact set

BSA M20 Lucas Magneto Points 484098

BSA, Norton, Triumph and unit single points LU54419827 99-0772 60-3166

Interspan Ignition

2000 12volt operation single cylinder with trigger
2000 12volt operation Twin cylinder with trigger
Triumph 2000 12 volt twin complete

3000 BSA Generator type Complete

3000 Norton Twin Complete

3000 Module (single) mx

3000 Module (single) trials

3000 Module (twin)

3000 Trigger kit (single)

4 pole Stator (twins)

2 pole Stator (3000)

Yam 650 Generator back plate

Crank Rotor

B50 Generator

Interspan Sport Single "Push switch" Box (single)
Interspan Sport Single "Push switch" Box (single)complete
Mk 18 orange long burn Top single

Mk 18 Orange Top complete single

Mk 18 Orange Top "Push switch" Box (twin) complete
Mk 18 Orange Top "Push switch" Box (twin)

BSA B50 Mk 17 Trigger kit (single)

BSA B44 etc Trigger kit

3000 Trigger kit (single)

Trigger Kit (twin)

Charge lead

Interspan Deluxe charge lead 2 metre 6 pin
Interspan Deluxe charge lead 2 metre 8 pin
Interspan Remote Charge lead kit

Wired Bulgin Socket

Interspan Wired Bulgin Plug (Basic)

Interspan Small trigger (with backplate if required)
3000 B50 rotor

BSA B44 etc rotor

BSA B50 Rotor PES

rotary switch

Plug caps

Bulgin plug

Bulgin socket

8 Pole Cable Mount Connector

8 pin plug

red rubber ignition button cover

8 pin dust cap for interspan

Heavy Duty Dust cap 8 pin Interspan

8 pin dust cap

Crocodile clip

5 cell electronic module

6 cell methanol module

Triumph T100,T120,T150,T160 Heat Sync for Zenor Diode
Genuine Lucas Classic 47252 RM24 12V 3 phase Stator.
Genuine Lucas Classic 47244 RM24 12V 3 phase Stator
Stator s/phase 16amp 47239 lucas

Podtrontics regulator single phase

Lucas 3 Phase Rectifier/Regulator

Podtrontics Solid State regulator three phase

5.00
4.00
8.00
1.75
6.00
5.25
11.00
14.00
11.00

400.00
394.00
394.00
684.80
575.00
255.00
275.00
252.00
135.00
148.80
155.00
22.00
100.00
110.00
594.00
766.00
430.00
532.00
762.00
592.00
140.00
140.00
140.00
145.00
10.00
20.00
20.00
15.00
10.00
10.00
85.00
55.00
55.00
55.00

5.50
4.50
25.00
16.00
5.00
3.00
8.00
4.00
2.00
130.00
140.00
17.50
85.00
85.00
56.00
24.00
36.00
24.00

set

set

each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



19-0690
200731
200754
10222P
LU200354
LU463898
200752
48-98652
S$1231
423871
54410823
54441582
425377
M1750

Wil
WI-TWIN
PAZON
LU47276

70-3722
HTC1-3
HETBAN 1-3

HETBAN3-3
HEF93-6-5
HEF3-4
BAN2-3
BAN1-3
BAN1-5
HETBANG6-3
HETBAN2-3
MMS3-4-4
MMS9-4-3
MMS3-4-6
HEBAN-M10-4
HEBAN-M10-5
HEBAN-M12-5
HEF3-6
HEFP3-4
HEFP3-6
HETX1-3
HET1-3
BBS1-3
BBA2-41
BBSD1-3
BBSLD1-3
BBSL1-3
BSPL-3
BSPSS-3
Spacel
WCS7-16
WCS 3-8
40-0159
WC-M12
BS3-8
BS1-2
97-4004
70-7351
HC1-1
HC1-3
HC2-8
HC1-2

Lucas Main wiring Harness. B31,B32,B33,834 M20,M21,M33 LU865493
Genuine Lucas Replacement Field Coil (60W) Dynamo 12V

Lucas Magneto/Dynamo Armature 12v 200754/12

Wassell 12 DC Regulator Positive

E3 Dynamo bakelight end cover with centre hole.

Replica Lucas Mag/Dyno Points Cover Clip

12V Dynamo Armature

rotor lucas #54202299

Condenser $1231/S2767 BSA Bantam

Condenser BSA C11G (1954-58) C12 (1954-58)

condenser 3TA/5TA 54410823

Condenser 54441582

Condenser BSA Bantam C15 A50 A65 B40 Triumph Terrier Tiger Cub TR6 T120
Villiers Condenser 6E/7E/SE

SEM Top coil

Wassell Micro Mk | Ignition kit 12V Single and Twin with Side Points
Wassell Micro Mk Il 6-12V Electronic Ignition Kit for Twin Cylinder Models
Sure-fire single cylinder 12 volt

Lucas 12 volt ignition coil. LU47276

Crankcase filter

3/8UNF concave seat

Banjo 3/8 Dia to 3 hose extended neck
Banjo - takes 3/8 bolt

Twin take off banjo

3/8 BSP female swivel

1/4 BSP female swivel straight

3/8 Twin Crimp -3 Banjo medium SS (PES)
3/8 Crimp -3 Banjo medium SS (PES)
3/8 Crimp -5 Banjo medium SS (PES)
Extended neck twin take off banjo - 3/8 bolt
Banjo 3/8 dia - 3 hose 20 degree extended neck SS
Steel M/M 1/4 BSP x 1/4 BSP

Steel M/M 1/4BSP x 3/8UNF

Steel M/M 1/4 BSP x 3/8BSP

M10 banjo for 1/4 hose

M10 banjo for 5/16 hose

M12 banjo for 7/16 hose

3/8 BSP female for 3/8 hose
1/4BSPFemale for 1/4 push-fit

3/8BSP female for 3/8 push-fit

3/8 UNF CNVX seat

3/8UNF flat seat
3/8UNF Banjo bolt short

M12x1.0 banjo bolt

3/8 UNF Banjo bolt - double short (PES)
3/8 UNF Banjo bolt - double long
3/8UNF Banjo bolt - long (PES)
1/8"BSP Long Banjo Bolt (PES)
1/8"BSP SS Banjo Bolt (PES)

6mm x 3/8"ID Spacer

7/16 solid copper washer

3/8 solid copper washer

3/8 x 1/8 BSP Copper washer

12mm fixed copper washer

Bonded seal 3/8" for 1/8BSP

Bonded seal 1/2" ID for 1/4 BSP
Bonded seal 5/16

BSA Sealing washer fuel tap
Wormdrive pt s/s 8mm, .37-.62in
Wormdrive pt s/s 8mm, .62-1in
Wormdrive S/S 8mm 1.87-2.6in
Wormdrive pt s/s 8mm, .5-.87in

56.00
48.00
112.00
24.00
8.00
6.50
105.00
85.00
16.00
7.00
7.00
8.00
11.00
10.00
88.00
88.00
112.00
120.00
26.00

11.00

5.00
6.00
15.00
5.00
3.00
22.00
12.00
12.00
17.00
10.50

5.00
6.00
4.00

5.00

6.00
8.00
7.00
7.00
6.00
6.00
9.00
1.50
0.99
0.25
0.99

0.50
0.50
0.50
0.50
0.50
0.50
1.00
0.40

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



HC2-7
HC3-3
SSHC
HF-6
FBM1003
SPH3-5
TFE3
TFE4
SPH3-6
TFE6
TFE3
RPVC12
73013
TH63
74001
74000
02-427B
02-427S
03
73021
NB247

~

14-0405

14-6611
14-6610

14-6606
14-6612
14-6614
14-0401

NB146

68-0938
1-2-BSC-NUT
15-5753

40-3044

40-0236

Wormdrive s/s 8mm 1.25-1.87in
WORMDRIVE S/S 14MM 4.53-6.5IN
Stainless Steel hose clamp 90mm

Hose finisher -6

Proclamps up to .650D hose -8

5/16 Stainless fuel hose - per 100 mm
Stainless hose -3 per 100mm Teflon
Stainless hose -4 per 100mm Teflon

3/8Low pressure stainless fuel hose - pr 100mm
Stainless Steel TFE Hose - pr 100mm -6 per 100mm
TFE Hose - pr 100mm

RPVC12 13 x 18 Braided PVC hose per metre
1/4 soft clear PVC Tubing
Overbraided oil pipe per 1 metre 8mm bore
Rubber Hose 1/4"

Rubber Hose 3/16"

crimp collarrc600-03tuv

crimp collar stainless

Ferrule 3/16"

Ferrule 11x 11

6mm x 40mm S/cap screw

Fasteners

1/2 UNF Metal Locking Nut 14-0405 06-3598
1/2 UNF half nut

1/2 UNF full nut

1/4 BSF X 2 " Socket

1/4 BSF X 2 1/4" Socket

1/4 BSF X 2 1/2" Socket

1/4 bsf x 1 socket

1/4 bsf x 1 1/4 socket

1/4 bsf x 1 1/2 socket

1/4 bsf x 1 3/4" socket

1/4 bsf x 3/4 socket

1/4 bsf/bsc nut

1/4 UNC Nut

1/4 unc x 1 3/4 socket

1/4 unc x 1 1/2 socket

1/4 UNC X 1/2 countersunk
1/4 UNC X 1/2 Socket

1/4 UNC X 1" Socket

1/4 UNC X 3/4 Socket

1/4 unc x 2 socket

1/4 uncx 2 1/2" socket

1/4 UNF Metal locking Nut 14-0401
1/4 UNF nylock

1/4 UNF plain nut

1/4 unfx 1 1/2 socket

1/4 unf x 1 1/4 socket

1/4 unf x 3/4 socket

1/4 x 2 whit socket screws
1/4 unf x 2 1/2 socket screws
1/4 table 3 washer

1/4 x 5/8 washer 68-0938
1/2" BSC Nut

1/2" x 20TPI Nut 02-0052 15-5753 99-3357 DS48
1/2 unf x 1 1/2 hex bolt

BSA Camplate Spring Hex Bolt 40-3044, 29-3242, 57-1076
2ba x 1" hex

2bax11/2" hex

2ba x 1" socket

2bax 1/2" socket

2ba x 3/4 socket

2ba x 5/8 socket

3/8 unc x 1 socket

0.80
3.00
2.00
6.00
6.00
2.00
1.00
1.50
1.00
2.00
1.00
1.50
1.00
3.50
1.50
1.50
1.00
2.00
0.35
0.75
0.50

0.50
0.50
1.00
1.00
1.00
0.50
0.50
0.50
0.75

0.75
0.20
0.50
1.00
1.00
0.50
0.50
0.50
1.00
1.00
1.00
0.25
0.25
0.25
0.50
0.50
0.50
0.50
1.50

0.50
1.00
1.75
0.50
1.00
0.25
0.75
0.50
0.50
0.25
1.00
0.75

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



02-0046
EA82
66-4707

24-5160

N2

3-4UNF

14-0247
7-16-26TPI-Nut

3/8 unc x 1 3/4 socket

3/8" BSC Nut

BSA C10 C11 M20 M21 Nut 3/8 x 26TPI EA82 EB82 02-0046 EB201
3/8" Shakeproof Washer Black Stainless Steel
3/8 unf nut

3/8 unf nylock thin form nut

3/8 unf nylock nut

3/8 unfx 1 1/2 socket

3/8 unf x 1 3/4 socket

3/8 unf x 3/4 socket

3/8 unfx 1 1/2 socket

3/8 x 2 1/2 unf hex bolt

5/16 bsf x 1 1/2 socket

5/16 bsf x2" socket

5/16 unc x 1 1/2" socket

5/16 unc x 1 1/4 socket

5/16 unc x 1 3/4 socket

5/16 unc x 2 socket

5/16 unc x 2 1/2 socket

5/16 unc x 3 socket

5/16 unc x 3/4 button head

5/16 unc x 3/4 socket

5/16 X 1" UNF Socket headed cap
5/16 X 1 1/4" UNF Socket headed cap
5/16 X 1 1/2" UNF Socket headed cap
5/16 X 1 3/4 UNF Socket headed cap
5/16 X 2 1/2 UNF Socket headed cap
5/16 X 2 UNF Socket headed cap
5/16 X 26TPI BSC Nut

5/16 X 3/4 UNF Socket headed cap
5/16 x 3" BSF socket cap

5/16 BSF nut

5/16 unc nut

5/16 unf nut

5/16 unf nylock

3/4" UNF Full Nut

5/8 UNF nut

9/16 UNF half nut JH Mainshaft

6 x 20mm socket head screws
7/16 UNF nylock

7/16 UNF X 1 3/4" HEX

7/16 x 26TPI Nut

M6 x 20mm socket head

M6 Washer

M8 x 25mm socket head

M8 x 50mm socket head

M8 nut

M10 x 110mm coarse (1.5)

T45

13/4 x 16g - pr 100mm

40mm x 2 -pr 100mm

11/2 x 16g - pr 100mm

11/2 x10g - pr 100mm

13/8 x 16g - pr 100mm

13/8" x 14g - pr 100mm

11/8 x 16g - pr 100mm
1x16g-pr100mm
1x14g - pr100mm
1x12g-pr100mm

7/8 x 16g - pr 100mm

7/8" x 14g - pr 100mm

7/8 x 10g

3/4 x 16 - pr 100mm

3/4" x 10g - pr 100mm

0.75
0.50
1.00
0.50
0.50
0.50
0.50
0.75
1.00
0.75
1.25
0.50
1.00
2.00
1.00
1.00
1.00
1.00
1.00
1.00
0.50
0.50
0.50
1.00
1.00
1.00
1.25
1.00
1.00
1.00
2.00
0.50
0.50
0.50
0.50
1.00
0.75
0.50
0.25
0.50
1.00
1.00
0.10
0.05
0.25
0.50
0.10
2.00

3.00
2.50
2.50
3.50
3.00
2.55
3.00
3.00
2.50
3.00
3.00
2.55
3.00
2.50
2.50

each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each
each



5/8 x 16g - pr 100mm

1/2 x 16 - pr 100mm

2 1/4 x 16g ERW pr 100mm

7.94 x .71mm bundy tube per 100mm
3/8 x.0028" bundy tube per 100mm
10mm x 2mm tube per 100mm

Puller M33x1.5

Puller M28x1

2.50
4.00
1.00
1.00
1.00
1.50
15.00
10.00

each
each
each
each
each
each
each
each



